DU BEIEd

Topic:- DU_J19_BELED_T1_NEW

1) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a local dentist
whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me not to let myself be
sent there. With great skill and vivid description he drew hideous pictures of what went on there and told me that I
should hate the school as much as he did. Then one dreadful afternoon my mother told me that I had ‘gotin’. I
wept. I went to my room and cried myself to sleep. Within a few weeks later, I did have to leave home, I did so
with tears and lamentation.

(School days: Raising the Wind; Gilbert Harding)
Which of the following statements about Freddy Volpe is true?
[Question ID = 13497]

1. He convinced the narrator to join school [Option ID = 23987]

2. He disliked his school [Option ID = 23988]

3. He was skillful at drawing pictures on paper [Option ID = 23986]
4. He was the dentist’s only son [Option ID = 23985]

Correct Answer :-
» He disliked his school [Option ID = 23988]

2) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a local dentist
whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me not to let myself be
sent there. With great skill and vivid description he drew hideous pictures of what went on there and told me that I
should hate the school as much as he did. Then one dreadful afternoon my mother told me that I had ‘gotin’. I
wept. I went to my room and cried myself to sleep. Within a few weeks later, I did have to leave home, I did so
with tears and lamentation.

(School days: Raising the Wind: Gilbert Harding)

Why was the narrator happy?
[Question ID = 13493]

1. He got admission to the school [Option ID = 23970]

2. He liked the description of the school [Option ID = 23971]

3. He did not get admission to the school [Option ID = 23972]

4. He was going for tea at the dentist’s place [Option ID = 23969]

Correct Answer :-
» He did not get admission to the school [Option ID = 23972]

3) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a local dentist
whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me no ysel I:e .
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sent there. With great skill and vivid description he drew hideous pictures of what went on there and told me that I
should hate the school as much as he did. Then one dreadful afternoon my mother told me that I had 'got in’. I
wept. I went to my room and cried myself to sleep. Within a few weeks later, I did have to leave home, I did so
with tears and lamentation.

(School days: Raising the Wind; Gilbert Harding)

Why was the afternoon dreadful for the narrator?
[Question ID = 13494]

1. He had to leave his mother [Option ID = 23973]

2. He had to leave his home [Option ID = 23974]

3. He had got admission to the school [Option ID = 23975]
4. He was not admitted to the school [Option ID = 23976]

Correct Answer :-
« He had got admission to the school [Option ID = 23975]

4) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a local dentist
whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me not to let myself be
sent there. With great skill and vivid description he drew hideous pictures of what went on there and told me that I
should hate the school as much as he did. Then one dreadful afternoon my mother told me that I had 'got in’. I
wept. I went to my room and cried myself to sleep. Within a few weeks later, I did have to leave home, I did so
with tears and lamentation.

(School days: Raising the Wind; Gilbert Harding)
Which place does the phrase ‘went on there’ in the given passage refer to?
[Question ID = 13496]

1. Freddy’s home [Option ID = 23982]

2. The dentist’s clinic [Option ID = 23983]
3. The dentist’s home [Option ID = 23984]
4. The school [Option ID = 23981]

Correct Answer :-
» The school [Option ID = 23981]

5) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a local dentist
whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me not to let myself be
sent there. With great skill and vivid description he drew hideous pictures of what went on there and told me that I
should hate the school as much as he did. Then one dreadful afternoon my mother told me that I had ‘gotin’. I
wept. I went to my room and cried myself to sleep. Within a few weeks later, I did have to leave home, I did so
with tears and lamentation.

(School days: Raising the Wind); Gilbert Harding)
What does the phrase ‘cried myself to sleep’ in the given passage mean?
[Question ID = 13495]

1. To cry in order to sleep [Option ID = 23979]
2. To cry until one falls asleep [Option ID = 23978]
3. To cry in sleep [Option ID = 23980]
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4. To cry continuously [Option ID = 23977]

Correct Answer :-
« To cry until one falls asleep [Option ID = 23978]

Topic:- DU_J19_BELED_T2_NEW

1) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised everyone,
including myself, by getting up before sunrise. I was just in time to catch the culprit out of the Walnut tree. She
was an old woman who sometimes came to cut grass on the hillside. Her face was as wrinkled as the walnuts she
so fancied, but her arms and legs were very sturdy. "And how many walnuts did you gather today, Grandmother?”
I asked.

"Just two,” she said with a giggle, offering them to me on her open palm. I accepted one, and thus encouraged,
she climbed higher into the tree and helped herself to the remaining nuts. It was impossible for me to object. I was
taken with admiration for her agility. She must have been twice my age, but I knew I could never get up that tree.
To the victor, the spoils!

( Trees from my Window; Ruskin Bond)
Which word of the following does not describe the old lady?
[Question ID = 13500]

1. Agile [Option ID = 23997]
2. Sturdy [Option ID = 23998]

3. Surprised [Option ID = 24000]
4. Wrinkled [Option ID = 23999]

Correct Answer :-
« Surprised [Option ID = 24000]

2) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised everyone,
including myself, by getting up before sunrise. I was just in time to catch the culprit out of the Walnut tree. She
was an old woman who sometimes came to cut grass on the hillside. Her face was as wrinkled as the walnuts she
so fancied, but her arms and legs were very sturdy. "And how many walnuts did you gather today, Grandmother?”
I asked.

“Just two,” she said with a giggle, offering them to me on her open palm. I accepted one, and thus encouraged,
she climbed higher into the tree and helped herself to the remaining nuts. It was impossible for me to object. I was
taken with admiration for her agility. She must have been twice my age, but I knew I could never get up that tree.
To the victor, the spoils!

( Trees from my Window; Ruskin Bond)
What does the phrase 'To the victor, the spoils’ mean
[Question ID = 13503]

1. Victory spoils us [Option ID = 24009]

2. The winner gets the reward [Option ID = 24012]
3. The winner gets spoilt [Option ID = 24010]

4. The victor gets punished [Option ID = 24011]

Correct Answer :-
« The winner gets the reward [Option ID = 24012]
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3) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised everyone,
including myself, by getting up before sunrise. I was just in time to catch the culprit out of the Walnut tree. She
was an old woman who sometimes came to cut grass on the hillside. Her face was as wrinkled as the walnuts she
so fancied, but her arms and legs were very sturdy. "And how many walnuts did you gather today, Grandmother?”
I asked.

“Just two,” she said with a giggle, offering them to me on her open palm. I accepted one, and thus encouraged,
she climbed higher into the tree and helped herself to the remaining nuts. It was impossible for me to object. I was
taken with admiration for her agility. She must have been twice my age, but I knew I could never get up that tree.
To the victor, the spoils!

( Trees from my Window; Ruskin Bond)
What does the phrase ‘helped herself’ in the given passage mean?
[Question ID = 13502]

1. Plucked and collected [Option ID = 24005]

2. Took herself out of trouble [Option ID = 24007]

3. Stretched for the higher branches of the tree [Option ID = 24008]
4. Tried to climb the tree [Option ID = 24006]

Correct Answer :-
» Plucked and collected [Option ID = 24005]

4) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised everyone,
including myself, by getting up before sunrise. I was just in time to catch the culprit out of the Walnut tree. She
was an old woman who sometimes came to cut grass on the hillside. Her face was as wrinkled as the walnuts she
so fancied, but her arms and legs were very sturdy. "And how many walnuts did you gather today, Grandmother?”
I asked.

"Just two,” she said with a giggle, offering them to me on her open palm. I accepted one, and thus encouraged,
she climbed higher into the tree and helped herself to the remaining nuts. It was impossible for me to object. I was
taken with admiration for her agility. She must have been twice my age, but I knew I could never get up that tree.
To the victor, the spoils!

( Trees from my Window; Ruskin Bond)
What encouraged the old lady to gather more nuts?
[Question ID = 13501]

1. That the narrator was impressed with her agility [Option ID = 24004]
2. That the narrator appreciated her [Option ID = 24002]

3. That the narrator giggled [Option ID = 24001]

4. That the narrator accepted a nut from her [Option ID = 24003]

Correct Answer :-
« That the narrator accepted a nut from her [Option ID = 24003]

5) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised everyone,
including myself, by getting up before sunrise. I was just in time to catch the culprit out of the Walnut tree. She
was an old woman who sometimes came to cut grass on the hillside. Her face was as wrinkled as the walnuts she
so fancied, but her arms and legs were very sturdy. "And how many walnuts did you gather today, Grandmother?”
I asked.

"Just two,” she said with a giggle, offering them to me on her open palm. I accepted one, and

couraged,
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she climbed higher into the tree and helped herself to the remaining nuts. It was impossible for me to object. I was
taken with admiration for her agility. She must have been twice my age, but I knew I could never get up that tree.
To the victor, the spoils!

( Trees from my Window; Ruskin Bond)

Why did the narrator get up before sunrise?
[Question ID = 13499]

1. To surprise himself [Option ID = 23993]

2. To catch the culprit who stole the walnuts [Option ID = 23996]
3. To help the old lady in cutting the grass [Option ID = 23994]
4, To pluck the nuts before they got stolen [Option ID = 23995]

Correct Answer :-
« To catch the culprit who stole the walnuts [Option ID = 23996]

Topic:- DU_J19_BELED_T3_NEW

1) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer. Between the
ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the consciousness that I
was outraging my true nature and that sooner or later I should have to settle down and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my father before
I was eight. For this and other reasons I was somewhat lonely, and I soon developed disagreeable mannerisms
which made me unpopular throughout my schooldays. I had the lonely child's habit of making up stories and
holding conversations with imaginary persons, and I think from the very start my literary ambitions were mixed up
with the feeling of being isolated and undervalued.

( Why I write; G. Orwell)

How many siblings did the author have?
[Question ID = 13505]

1. Three [Option ID = 24017]
2. Two [Option ID = 24018]
3. Five [Option ID = 24019]
4. Four [Option ID = 24020]

Correct Answer :-
* Two [Option ID = 24018]

2) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer. Between the
ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the consciousness that I
was outraging my true nature and that sooner or later I should have to settle down and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my father before
I was eight. For this and other reasons I was somewhat lonely, and I soon developed disagreeable mannerisms
which made me unpopular throughout my schooldays. I had the lonely child's habit of making up stories and
holding conversations with imaginary persons, and I think from the very start my literary ambitions were mixed up
with the feeling of being isolated and undervalued.

(Wi ite; G. Orwell)
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Which childhood habit of the author stems from his loneliness?
[Question ID = 13507]

1 Making up stories and holding conversations with imaginary persons [Option ID = 24027]
2 Barely seeing his father before he was eight [Option ID = 24026]

3. Trying to abandon the idea of becoming a writer [Option ID = 24025]

4,  Outraging his true nature [Option ID = 24028]

Correct Answer :-
. Making up stories and holding conversations with imaginary persons [Option ID = 24027]

3) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer. Between the
ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the consciousness that I
was outraging my true nature and that sooner or later I should have to settle down and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my father before
I was eight. For this and other reasons I was somewhat lonely, and I soon developed disagreeable mannerisms
which made me unpopular throughout my schooldays. I had the lonely child's habit of making up stories and
holding conversations with imaginary persons, and I think from the very start my literary ambitions were mixed up
with the feeling of being isolated and undervalued.

( Why I write; G. Orwell)
What does the phrase 'I soon developed disagreeable mannerisms’ in the given passage mean?
[Question ID = 13506]

1. I refused everything [Option ID = 24022]

2. I developed a disagreement with mannerisms [Option ID = 24024]
3. I did not develop good manners [Option ID = 24021]

4. I displayed unpleasant behaviour [Option ID = 24023]

Correct Answer :-
« [ displayed unpleasant behaviour [Option ID = 24023]

4) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer. Between the
ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the consciousness that I
was outraging my true nature and that sooner or later I should have to settle down and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my father before
I was eight. For this and other reasons I was somewhat lonely, and I soon developed disagreeable mannerisms
which made me unpopular throughout my schooldays. I had the lonely child's habit of making up stories and
holding conversations with imaginary persons, and I think from the very start my literary ambitions were mixed up
with the feeling of being isolated and undervalued.

(Why I write; G. Orwell)
What does ‘outraging’ mean in the above passage?
[Question ID = 13508]

1. Showing anger [Option ID = 24031]
2. Horrifying [Option ID = 24032]

3. Violating [Option ID = 24030]

4. Disgusting [Option ID = 24029]

Correct Answer :-
« Violating [Option ID = 24030]
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5) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer. Between the
ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the consciousness that I
was outraging my true nature and that sooner or later I should have to settle down and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my father before
I was eight. For this and other reasons I was somewhat lonely, and I soon developed disagreeable mannerisms
which made me unpopular throughout my schooldays. I had the lonely child's habit of making up stories and
holding conversations with imaginary persons, and I think from the very start my literary ambitions were mixed up
with the feeling of being isolated and undervalued.

( Why I write; G. Orwell)
What according to the author was his 'true nature'?
[Question ID = 13509]

1. To avoid instincts [Option ID = 24036]

2. To write [Option ID = 24033]

3. To converse with imaginary persons [Option ID = 24035]
4, To be lonely [Option ID = 24034]

Correct Answer :-
« To write [Option ID = 24033]

Topic:- DU_J19_BELED_T4_NEW

1) Fafefea mei &) wae | ufeu)

# ugd € g g@1 § 1 Sl F 7R Aaaa 39 @ A 781 81 A1 Hawd 39 A | @ o fafyr @ 9@ g, Yy, uer, Her,
'TgY &1 Yt ST 7 T §U UHGH i o uHed 81 39 93t Treat 7 '3 @A | 39 MG g APl 8, AP vads
st e & A 39 3R U= STReIA@ 781 fFargd (Frumd), a9 9@ & 3= 3fafy € sear § ok amud wdT ear §
fF 2reg U 7 STHY 3MY AT HAWE IHA A

( SarTmfaars zmf)
3T’ e A AT AT § ?
[Question ID = 13514]

1. &1 @1 & 31 [Option ID = 24053]

2. fomT1 99 &1 =T fasd 31T [Option ID = 24055]
3. f&A1 3301 & 31T [Option ID = 24056]

4, T899 HRUT & 3T [Option ID = 24054]

Correct Answer :-
« faHT 3ITHA0T & 3T [Option ID = 24056]

2) frafafas e o w= ¥ ufew)

A ugd 81 $g g1 § & iy F 27 Aaea 37 @ A 71 ¥ 1 A0 gaaa 39 A @ g o Tl Y ara g, =, e, e,
'7gY &1 Y 2419 7 T §U UHGH Srifud o uHed 81 39 93t wreal 7 3 @A W/ 39 FEHSIV g 9Pl 8, AP vads
et Y & A 39 3R U1 STREIA@ 781 frargd (Frume), 9 9o & 3= fafy € sgar § ok el wdAT sar §
foF Treg WR 7 SBT3 AT HAWE IHA A
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[Question ID = 13512]

1. $© AU Yea| & Jold &I [Option ID = 24045]

2. Ieg W 9 SR 31 A B [Option ID = 24048]
3. 31feId 3T 4Ha P [Option ID = 24046]

4. 33 Helgl foraH @1 [Option ID = 24047]

Correct Answer :-
« P - Yeq] & Joid @I [Option ID = 24045]

3) Fafafea mrw &t aE 9 ufkel

# ugd €1 $8 91 § & ATy | BT Aaaa 3= a1 | el ¢ | AT Aaad 34 arn 4 ¢ st 'fafdr 9 99 g, =y, e, Her,
'Y’ BT Wt 19 7 7R §U UHeH SATRIT 3 4¥Pd g 1 37 Tt gl # '3 @A |/ 39 SHHGRUT 8! GodT 8, Afhd saad
3t e & e 39 3R 30T IWEIRE 81 Frared (AU, e 7 # 32 fafy & wear § ok o wredfar s §
fF Treg U 7 B 31U AT HAAE IHA A

€ GCRIEIEEIGREE)
SRIF T & d@s P AT sa € ?
[Question ID = 13515]

1. TR 3u+ A & uref=r $d & [Option ID = 24060]
2. TGS Ay § W1 #%d & [Option ID = 24058]

3, TGS TS § U1 B € [Option ID = 24059]

4. GH 3 A@H| T Ul Hd § [Option ID = 24057]

Correct Answer :-

« TGS UISH Y U1 B & [Option ID = 24059]

4) Fufafad T &) e 3 ufeu)

# ugd g1 $5 g1 § 1 iy | B Aaaa 39 @ | g1 ¢ | A Aaad 34 arn 4 g ot "fafdr 9 99 g, =y, e, Her,
"Tg¥’ BT Wt 19 7 7R §U UHeH SUTRIT 3 4¥Pd g1 37 Tt gl § o @ |/ 39 STHTHGRUT 81 G&dT §, Afhd Jaad
e &l & A 39 3R 30T ITReA@ T8l fFramga (Frum), aa 9o # 3% sifafy & wear § 3tk amud wrdar s §
fF Treg U 7 TTHT 3 AT HAAE IHA A

( Sfafemmfaeas 3H)
frafafad =gl § 9 S19 91 Weg *Ifafy I A ST TREAT ST UG & ?
[Question ID = 13513]

1. 3{H1= [Option ID = 24051]
2. 3T [Option ID = 24049]

3. 3faR1Y [Option ID = 24050]
4. 3{PTd [Option ID = 24052]

Correct Answer :-
« 3@Y [Option ID = 24050]

5) Frafafea mr ot aE 9 uffe

d U5 61 B8 IHT1 & [ TS A BT Aaad 39 AN & T8l 8| W Aaad 34 arn | g & ffyr 6t a9 g, vy, e, der,
'Tg¥ BT Wt ST 7 T §U UbaH SraTRia off 4weha &1 3 Wl wredl & 131 @A | 59 BB 8} Habdl 8, AT Siadd
e &Sl & A 39 3R AT IR Tl fFramga (R, a9 9o # 3% sifafy & wear § 3tk amud wrdfar s §

o Teg U 7 WTHT MY AR Addd THA A
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‘3fefr & SEe BT RTAITd ¢ ?
[Question ID = 13511]

1. St f&-1 & 9ad 3T [Option ID = 24044]
2. Sil f&1 ST & 31T [Option ID = 24043]
3. SI fo1 T 31U [Option ID = 24041]

4. Sil fardil it gerT 3MTT [Option ID = 24042]

Correct Answer :-
o G foft HY gaRT 3T [Option ID = 24042]

Topic:- DU_J19_BELED_T5_NEW

1) Fafefea Teiw & wae 9 ufeu)

&1, @ 9 ) 4t v Ts@, gultar Wper | o % 1SR TaR &7 A1, STST 4Tl di" IR aron e sert o1 Uiy e
T G, AEHP, S TR & A TAATd A@R, T8) [3o® T I TRE F 311 3@ [PpeR AR 7 HTE! A TS SR Ft
TR Za! ARG d9pW! O Tah} fe a9 9 38 uran) gie ¥ 3, 98 g) o | A e A 7 g o farga &
feTe, TEaad: g1 & a9y, THHT TBA T, "3MTY S df §2"

(GEIfFwd g M)
UGT ‘TEITH §IT BT T ATy @ ?
[Question ID = 13518]

1. @l ST [Option ID = 24069]

2. BUST BT HAT [Option ID = 24071]
3. HI¥T ST [Option ID = 24070]

4. iR &1 [Option ID = 24072]

Correct Answer :-
o H[T ST [Option ID = 24070]

2) fFrafaiaa e &t e= ¥ ufew)

&1, @ 9 ) <t diw Ts@, gultar Tper | o % 1SR TaR $7 ), SHST 4Tl di" I aron o sert o1 Uiy e
T Y31, MEHP, G B & 9 AT AI@aR, 981 [33F 151 I TG F 3T T8 TpeX AR A FTH! & w181 B &
UR Za! ARG d9pW! o Tah} fre a9R 9 38 uran) gue ¥ o, 98 g1 o | A e A 7 g o Raraa &
feTw, TEaa®: g9 P a9, THHT YDA T, "3ATY S of §2"

(GRS TG )
TR & e A argue’ o1 T ol 22
[Question ID = 13520]

1. 3{ETF% [Option ID = 24078]
2. WEA H fe@awdl 3@ [Option ID = 24080]
3. gufgdr arg= g drell [Option ID = 24077]
4. @ [Option ID = 24079]

Correct Answer :-
« T [Option ID = 24079]
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3) FrufafEa Terw «t a= § ufe)

g1, '3 aR I} <t da 9w, guftar Wpex | e SR IFYR TaR &1 781, ST 41| i I arer foeft wart &1 4y hie
T YT, 3EHP, GIF1 aXW & do gTaraTd JaWar, gl (66 5| G5 a¥h | 3T Vg ¥peX JaR - SIHT | SaTGT HI BI
R Za- Haveyd 3apW! ¥ TFH foe 7R 9 38 uranl 9ue # 3, 98 g) o 1 e el # 7 g ot Raraa &
faTw, IpaaE 11 & I, IHDHR P o, "3H1Y SiE af g2

(GRIfFeHa g W)

Al ¥pex HaR St | a1 42

[Question ID = 13517]

1. AfgepT 3ram® & =d § ¥ 718 ot [Option ID = 24067]
2. G d¥% ¥ oSl aTe- 311 @ ¥ [Option ID = 24068]

3. WHex GIS ARW A 3T IGT T [Option ID = 24066]

4. Tpe FAR d81 § G AHR e gofl [Option ID = 24065]

Correct Answer :-

. W@ S &g Ikd § 3P T3 &1 [Option ID = 24067]

4) FufafEa T ot o= | ufeu)

&1, @ IR ) 4t i Ts@, gulear Tper | o % 1SR TaR $7 8!, SUST 4TI di" IR aron o sart o1 Uiy e
T T, TP, S aB & ool ITaraTd dd@aR, I8! 3o M1 g€ TRE F 317 I8 Wpex AR A B!V 1T BT Bt
TR 3! ARG d9pW! O Tah} fe a9 9 38 uran) gue ¥ o, 98 g o frdh | A e A w3 g o farga &
feTw, TEaa®: g1 P a9, THHT TBA T, "3ATY S df §2"

(GBI g )
THHR D ga qoig 1 A ?

[Question ID = 13521]

1. foret et @1 sfean <fide ggmT [Option ID = 24081]
2. GHFI TR% &1 IS ITdTard [Option ID = 24082]

3. FIIa &1 IGFaax BT [Option ID = 24083]

4. faeelt ot Rarad &1 e 8IHT [Option ID = 24084]

Correct Answer :-

. fordt st &1 afear e JgAT [Option ID = 24081]

5) Frafafea mrw st aE 9 uftel

&1, @ 9 R} At diw Ts@, gultar Wper | T X 1SR TaR $7 8!, SHST 4TI di" IR aron o sert o1 Uiy e
T Y1, AGHD, Sl aX® & ool JTaTd AAWaR, 961 (66D TS| GT3 a¥P | 31T Vg WPpexX JdR A HTH! F TATGT BT Bt
R Fa-! ARG d9pW! O Tah} fe a9 9 38 uran) gie ¥ a1, 98 g o it | A e & 73 g o faraa &
feTe, TEaa®: g1 P a9, THHT TBA T, "3ATY S df §2"

(GoFw g )
Profafad wedl § 19 € Weg B W1 @ e ! 781 22
[Question ID = 13519]

1. S8 [Option ID = 24074]
2. 955uid [Option ID = 24073]
3. §9%W [Option ID = 24076]

4. 9g@d [Option ID = 24075]
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Correct Answer :-

« S§a®W [Option ID = 24076]

Topic:- DU_J19_BELED_T6_NEW

1) fFafafEa T o= 3 uftu)

99 1929 ® fARTar it & ufvayg gorm ik a9 | daY 1939 d@ dg uivay a1 e afrgaw grar & war wan PR it &
arfda 3 g2 9ga siftre wwifaa fvan sy A ggr-war gararasi Uil & gut sratag § +ff srar-smar wwar o1ifyy §y
a2 3t A1 A HIE U WY @S § TEd A1 d9-9R aR 399 Bidl W ot gufaed mar un) 9iey a1 969 # U da@d R
1 TS 3R TIPSl F T FIaTRT TR A | HUG] & HEN 9 I 9 Wifefd® HeTgeul @1 Bfd e a% 7Y AIH ued
R <Ol @1 o 3iferd 8 1 Iravre ufEa Tamfaer firy &1t Suew WY 39 A Y 79 § R B T A1) S der
m%maﬁmagwﬁﬁmmmﬂqﬁmm%q 19f & @ra-91 GeTd TR BT ASHT U, TURT 39 RGgia A M T\ w®
3! B |

(7 d@® & FF Jyaard ANR)
frafafed we-gml § | S19-91 0 &1 TS-93 3 4 firg 82
[Question ID = 13524]

1. WId-Uld [Option ID = 24095]
2. SIRAT-3{T4T [Option ID = 24094]
3. IAT1-4HT [Option ID = 24096]
4. dH-9R [Option ID = 24093]

Correct Answer :-
« TF-9R [Option ID = 24093]

2) Frafafea mr &t a9 uftel

¥ 1929 ® faRTar it & ufvayg gar it a9 | daY 1939 d@ Jg uivay &=t e afrgaw grar & =war wan PR it &
afaa 3 g3 9ga sifte wwifaa fean sy A ggr-war gararast Ui & gur sratag d W} srar-smar wwar o1ifyy §y
T3 3meHt A1 FiA HIE U W1y 9GS H Ted A1 F9-9R 9R 399 Sidl W ot a=famed war un) 3iey 91 9% H U a@d W
A TAE o a3t & i HRETH YR 4| G9E1 & HER 93 34 o9 Aiiefs agrgeul 1 Y o a@ W 4 ued
R <O D1 @ 3ifra 8 1 Irawrer ufEa wamfaer iy &1 v Suew f 39 A A 79 F WX Y T 41 3911 P U,
ml%maﬁﬁagﬁﬁﬁmﬂqmﬁqﬁmml%q I & Tra-NY GeTd W B aSHT U1, s s R AN A w
q31 BT |

(7 d@® &8 g7 Jyaard ANR)
SR e &1 g fig e @ 2
[Question ID = 13526]

1. TR & SfAT-3 diIb] & a8 § [Option ID = 24102]

2. YT ST & HIY JOTTelt & aR H [Option ID = 24103]

3. O TR 3 TGS 3R 3% fGURI & UG & IR H [Option ID = 24101]
4, A9F & e TUFdr & IR H [Option ID = 24104]

Correct Answer :-

. WP W 3 AW@SH! 3R I7P [GURI & UHE & TR H [Option ID = 24101]

3) Frafafeaa mrw &t a= 9 uftel

¥4 1929 ® faRTar ot & ufvayg garm it a9 & deY 1939 d& dg ulvay a1 e afrgaw grar & war man Prren s &

Hfead A g 9gd iftre gwifaa fan| Sy | gg1-oar garardsil YR & guT Sratad J Wt \rar-3man &ar 41ifHy d9y

g3 gt &1 AT WIS U WY aEES: A vd ¥ f9-9R aR Sl St wR ot g=iAred war At ieR arci 'Q‘éﬁmraau? .
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i guE 3R aH Sl & T FaTRT TR A AUEl & HER 33 I I WA wergewl 9 of¥ e g WY AW ued

TR ) F1 A 3ifpd 21 IaRTen ufed wrAfaer iy @71 v Suewr W 39 & A 79 § uR % T u11 =14 $eT 4,

mm%ﬂﬁgmﬁmwmﬂqﬁmm%q|ﬁ%ﬁaﬁ-ﬁﬁwwmmmwﬁqwﬁm AMATAW
BTy B

(¥ das e g7 Sqaard AER)
¥ H, I9 A9 3R sl & 9 Syared fFad Re@ A 2
[Question ID = 13525]

1. gaRaTeel Hrif, FRTar 3R daw® & fT [Option ID = 24100]
2. TAvren St 3R 3% 35 & o [Option ID = 24097]

3. O, TTHfSERY iy iR fAvren off & foru [Option ID = 24098]
4. Ty SY3if & foTT [Option ID = 24099]

Correct Answer :-
. iy deafi & W [Option ID = 24099]

4) frafefaa ey & e ¥ ufeu

¥ 1929 # fArTar ot & ufveag gon o a9 & Aw¥ 1939 a@ g ufvay &= e afrgaw grar & war man PR i &

afdaa 3 g2 9ga Sife wwifaa fsan| oy & ggr-wer gararasi Hiifa & gur srafag d +ff srar-smar wwar o1ifyy gy

T3 areHt &1 9 UTE U A1y @S | Ed A1 T9-9R R 39 Bidt iR W g man uni iR a1e 9% # U d@d W

A 7S 3R A el & dF SIETRT 7o U1 HUIGT  WER 9 3 i WifefA® wergedl 3t ofY smet 9w A W ved

W 1 @Y @ 3ifFd g1 IraRTen ufEa wamfaet fiy &1 e Sudwr o 39 A A 79 F wR R T unl 3% T AT,

%ﬁwaﬁgmﬁmwﬂqﬁmw 1% & @ra-da GRIETd 9% BT dSHT 4T, AT 59 RFa A M AA ®
BT BT

(7 d@F F 7 Maad AFR)
‘Hifed B e HUM FT QYA FU 981 g9 IR’ gz ufdw feaa w8t <t 2
[Question ID = 13527]

1. gANATAS HRTE = [Option ID = 24107]
2. fARra@TSit A [Option ID = 24105]
3. Ufgd wamfaer) fiyy = [Option ID = 24108]

4. TTATA AFR (TRaH) 7 [Option ID = 24106]

Correct Answer :-
. tfed wamfseR fy A [Option ID = 24108]

5) Frufafaa Terw &t aE § ufee)

a9 1929 ® fARTar ot & ufvag gon ok a9 & Aw¥ 1939 a@ g ufvay &= e afrgaw gvar & war man PR st &
afdia A g3 9gd Sife wwifaa fsan oy & agr-wear gararasi Yifa & gur srafag § +ff srar-smar svar o41ifyy gy
g3 gl A1 Y uiE U Iy a@S # Ed 81 f9-IR IR S99 S8 R oft g=fArd man A1 SieR are 95 # te aad R
9 7S 3R Al & A FETRT 79 U1 HUEGT F WER 9 3 o WifefA® wergewl 3t ofY snet 9w A wHw ved
R 1 @) @ 3ifpa g1 IraRTen ufEa Tammfae fry &1 e Iudwr o 39 A A w9 ¥ wR R T unl I T AT,
w%ﬂaﬁgmﬁmmﬁﬁmﬁqﬁmm%q I & @ra-fa GRIeTd 9% BT dSHT 4T, AT 39 REa A M AA w®
3! B |

(7 d@F F& g7 Maad AFR)

aa® P fpd aafeada A srfys ywifae far 2

[Question ID = 13523]

1. ARSI HHTG [Option ID = 24089] .
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2. T3R1&T [Option ID = 24092]
3. HfI8R fiY [Option ID = 24091]
4. &S UfSd [Option ID = 24090]

Correct Answer :-
o fARTE [Option ID = 24092]

Topic:- DU_J19 BELED T11_NEW

1) Which of the following is not a factor responsible for cyclone formation?

frafafaa # @ $19 91 yes wwpard fAaiu & fore Sorerd! F81 22
[Question ID = 13590]

1. Temperature / dIUHIT [Option ID = 24360]

2. Lightning / faTell [Option ID = 24357]

3. Wind speed / Ta &1 97 [Option ID = 24359]
4. Humidity / TH! [Option ID = 24358]

Correct Answer :-
« Lightning / fSiSTait [Option ID = 24357]

2) Which of the following is not a heat zone of the earth?

frrafafaa & } $19 w1 sfeay guft &1 v sledy T8 82
[Question ID = 13600]

1.  Prime Zone /9% &fcdY [Option ID = 24398]

2. Frigid Zone /<fid ®fedY [Option ID = 24399]

3.  Temperate Zone / e &fede [Option ID = 24400]
4.  Torrid Zone /W[ &fCFY [Option ID = 24397]

Correct Answer :-
«  Prime Zone /994 HicsY [Option ID = 24398]

3) Which of the following is not a natural fibre?

frafafea 9 @ o149 91 wefae Yan 78 82
[Question ID = 13577]

1. Wool / & [Option ID = 24307]

2. Jute / U&TH [Option ID = 24305]
3. Nylon / ATdIF [Option ID = 24308]
4. Silk / Y=H [Option ID = 24306]

Correct Answer :-
« Nylon / TSI [Option ID = 24308]

4) Which of the following is not a consequence of deforestation?

frafafea & & a1 a=ge &1 oy 981 82
[Question ID = 13584]

1. Increased infiltration rate / 3{d: &40l &1 <X H df [Option ID = 24335]

2. Increased soil erosion / Hal Ul e} E{@Z [Option ID = 24333]

3. Decreased soil fertility / §&T 3a3al § &H! [Option ID = 24334]

4. Decreased water-holding capacity of soil / H&I @ SR &Hdl § SHI [Option ID = 24336]

Correct Answer :-

« Increased infiltration rate / 3d:&dU &1 & H QT:_&’ [Option ID = 24335] !

................................................ L L L L L L L L L L R L L L L L L L T T T T L L L L L L L T L}
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5) Which of the following represents the probability of a random event?

fafafaa # F $19 ve are<sar ge=1 &t wikiedr &t g2far 22
[Question ID = 14377]

1. 1.004 [Option ID = 27507]

18

2. % [Option ID = 27506]

8
3. 7 [Option ID = 27508]
4. -0.04 [Option ID = 27505]

Correct Answer :-

18

« % [Option ID = 27506]

6) Which of the following defines the relationship between RhAizobium and the roots of legumes?

frafafad # @ S19 91 9=~ FE9997 3R BeleR Tyl 1 TS & Gr Y & gfHIT H3dr g2
[Question ID = 13594 ]

1. Predation / UXHEUT [Option ID = 24373]

2. Parasitism / gISiadn [Option ID = 24374]

3. Symbiosis / Tguiifddl [Option ID = 24375]
4. Competition / UfcrIfiTdT [Option ID = 24376]

Correct Answer :-

7) Which of the following set depicts the correct sequence of events in Indian history?
frafafaa e A @ 19 91 A HRA Sfaer I gesl] $T gl 3w gxIidT 8?2

[Question ID = 13611]

1. Salt Satyagraha, Second World War, Rowlatt act, Non-cooperation movement / TH® TdE, fgdia fay g, Jdc Uae, SHagan
(Non-cooperation) 3{icIc [Option ID = 24441]

2. Rowlatt act, Salt Satyagraha, Second World War, Non-cooperation movement / N[ Ud<, THP Hdlde, fodia fay &, ST
3fiGIe [Option ID = 24444]

3. Rowlatt act, Non-cooperation movement, Salt Satyagraha, Second World War / 3dc Tde, 3ggdIT e, THE Tare, fadia
fd% g [Option ID = 24442]

4. Non-cooperation movement, Salt Satyagraha, Rowlatt act, Second World War / GHE?JﬁTI &ﬁ'cﬂﬂ:i, dHd Mg, el Ude, fedma
fa% g [Option ID = 24443]

Correct Answer :-
« Rowlatt act, Non-cooperation movement, Salt Satyagraha, Second World War / Jde Udc, GME'@FT «311&]{:1'-1, “Hd g,
fgdia fay g [Option ID = 24442]

8) Which of the following kitchen waste items is non-biodegradable?

fFafafad & ¥ TS 3 ulRy axgsi # ¥ F19-30 S9-ifdfiewoig 22
[Question ID = 13589]

1. Empty milk sachet / G¥ @! @Telt it [Option ID = 24356]

2. Used tea leaves / TN &1 g3 °19 &1 Ufdl [Option ID = 24354]
3. Spoilt food / FST 3T YIS [Option ID = 24353]

4. Torn out jute bag / TeT §31T UeH T UdT [Option ID = 24355]

Correct Answer :-
« Empty milk sachet / g4 &1 @Tait doft [Option ID = 24356]
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9) Which of the following will turn the colour of red litmus paper into blue?

fafafaa & & o a1 verd ara fereww e ot i W § 9w am?
[Question ID = 13578]

1. Tamarind (imli) solution in water /SHe! Tt &1 °Id [Option ID = 24312]
2. Vinegar fﬁ?‘cﬂ [Option ID = 24310]

3. Milk of magnesia /fiee 31T HHRAT [Option ID = 24311]

4. Curd /&gl [Option ID = 24309]

Correct Answer :-
« Milk of magnesia /fie® it AR [Option ID = 24311]

10) Which of the following latitude passes through India?
frrafafaa siensr & | 19 1 A& YR A FHR ol 82

[Question ID = 13597]

1. Equator / 'J-EEH:Q'@T [Option ID = 24385]

2. Arctic Circle / 3TRI §agt [Option ID = 24386]

3. Tropic of cancer / HP @l [Option ID = 24388]

4. Tropic of Capricorn / & 3@l [Option ID = 24387]

Correct Answer :-
« Tropic of cancer / @d @I [Option ID = 24388]

11) Which part of the brain helps us in maintaining the posture and balance of the body?
AT BT S "1 I ARG WA 3R Hga a91E v@q A U UerdT &3l 82

[Question ID = 13586]

1. Medulla / BT [Option ID = 24341]
2. Cerebrum / THI&TSH (Ff¥sH) [Option ID = 24342]

3. Cerebellum / 3ARTSs (JET@H) [Option ID = 24343]
4. Hypothalamus / BTSUIUEHY [Option ID = 24344]

Correct Answer :-

« Cerebellum / 3RS (AfR&eH) [Option ID = 24343]

12) Which one of the following substances is a ‘compound’ and not a ‘mixture’?

frafafEd verdf & § w19 ar verd @ife’ g, 71 f& ‘fyor?
[Question ID = 13583]

1. Tap water / 5c &I Wicl [Option ID = 24332]
2. Steel / &I [Option ID = 24329]

3. Glucose / quﬁﬁl [Option ID = 24331]

4. Brass / Uidd [Option ID = 24330]

Correct Answer :-
* Glucose / WG{ [Option ID = 24331]

13) Which one of the following is not a Fungus?

frafefad & @ o159 9o T8 82
[Question ID = 13579]

1. Yeast /&HRR [Option ID = 24313]
2. Bread mould /88 &1 B¢l [Option ID = 24316]
3. Mushroom /HR¥=H [Option ID = 24315]

4. Seaweed [SFST AT [Option ID = 24314] .
’ | collegedunia;
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Correct Answer :-
« Seaweed /YS! RaTd [Option ID = 24314]

14) Which one of the following is not a tribe in India?

frafafEa & ¥ o @ uRa 9 v saenfa T8 82
[Question ID = 13613]

1. Ahom /37819 [Option ID = 24451]

2. Kazakh / @il [Option ID = 24452]
3. Bhil / i@ [Option ID = 24449]

4. Gond / 7118 [Option ID = 24450]

Correct Answer :-
« Kazakh / &4ITd [Option ID = 24452]

15) Which fundamental right in India empowers the citizens to move to court if they believe that any of their
'Fundamental Rights' have been violated by the State?

IR TH HRAT AT S arat & b 36 fheht oft Hifere e &1 7wa gRT Seore+ fpar man 8, R R A s ar
Aifere Siftrer AT $t srgred A o &1 Sfter 3a1 82

[Question ID = 13609]

1. Right against Exploitation / TYUI & REATH ISR [Option ID = 24434]

2. Right to Constitutional Remedies / TaUTH® ITER BT 3HfUHR [Option ID = 24436]
3. Right to Freedom of Religion / &8 @1 Wd=dT &1 31fUHR [Option ID = 24435]

4. Right to Freedom / ¥aci=dT &1 3HfUHR [Option ID = 24433]

Correct Answer :-
« Right to Constitutional Remedies / TaeTf IUTR FT AfYHR [Option ID = 24436]

16) Which was the first state in India to introduce Mid-Day Meal scheme (programme aimed at providing cooked
lunch for children in all government elementary schools)?

qHTE Hio gioqn (T IReRT RS faemaal & a=1 & g a1 g8 YW SUas SR 8q P H) ™= B arell
HRA &1 g1 IST PI T UT?

[Question ID = 13602]

1. West Bengal / Ui §TTe [Option ID = 24407]
2. Kerala / &3 [Option ID = 24405]

3. Tamil Nadu / GfH@Tg [Option ID = 24406]

4. Andhra Pradesh / Y TS [Option ID = 24408]

Correct Answer :-
« Tamil Nadu / dffi@H g [Option ID = 24406]

17) Which is the largest number that divides 245 and 1029 leaving remainder 5 in each case?

9% UTH do! S S A & FoTHH 245 31T 1029 & HRT 34 TR UdP M H 5 N9 7§41 22
[Question ID = 13561]

1. 60 [Option ID = 24244]
2. 40 [Option ID = 24243]
3. 16 [Option ID = 24241]
4. 32 [Option ID = 24242]

Correct Answer :-
« 16 [Option ID = 24241]
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Which movement began in the USA in the 1950s in which African —American people demanded equal rights and an
end to racial discrimination?

g ey AR # 1950 F IE H I TT 3cia- I g T o anpia! -3mRa a3 3w fReRY ik Twfia
NGUTT B! TAT HIA Dt 7T @1 A2

[Question ID = 13606]

Basic Rights Movement / Jd ¥R 3Higia [Option ID = 24422]

Civil Rights Movement / TR ® 3R 3figie [Option ID = 24421]
Social Rights Movement / TTHIRSIE SfAIGR 3fiGia- [Option ID = 24423]
Economic Rights Movement / 3{Tida& &R 3fiia+ [Option ID = 24424]

ol ol ol

Correct Answer :-

«  Civil Rights Movement / TR 3ffYHR 3figie [Option ID = 24421]

19) When we boil water in an aluminium pan, the quantity of water in the pan decreases with time. This is
because:

(i) aluminium absorbs the water

(ii) water gets converted to carbon dioxide

(iii) water gets converted to water vapours

(iv) water heats up and breaks into hydrogen and oxygen which mixes with air above

Which of the above statements is true?

o9 g9 oI &1 SegHifraw & g ® Iarad €, ) THT & WIY-91Y Fd S A HH gt Ardl @ | SHST FRO 8¢
(i) sregiforay oid ) Sra=ifia Fear 8

(ii) 5T PTa STS3ATFATSS A 9¢d AT &

(iiii) Te1, STeTaTed § 9g¢ ST &

(iv) SSHT T8V A W T, T3S R RIS § 9 STl 8 ol SHUR 1 arg § firer simar @

SUded § ¥ & 19-91 $YT TG 82

[Question ID = 13580]

1. Both (iii) and (iv) / (iii) 3fR (iv) @I [Option ID = 24320]
2. Both (i) and (ii) /(i) 3R (ii) GF [Option ID = 24319]

3. Only (iii) / &dd (iii) [Option ID = 24317]

4. Only (iv) / &ad (iv) [Option ID = 24318]

Correct Answer :-
« Only (iii) / Had (i) [Option ID = 24317]

20) When no single party enjoys majority in a legislature, then the government is formed by an alliance of two or
more political parties. What do we call this type of Government?

wig $1g W urdf RQurdt gara & ggud | 7€) shadt 8, 9 WeR a9 & e 3t a1 3 F 3fe 3@ us 91y 31 &1 39 ISR
PR F T BT A1dT 82

[Question ID = 13604]

1. Majority Parliament / §gHd THg [Option ID = 24414]

2. Hung Parliament / A% ¥¥¢ [Option ID = 24413]

3. Coalition government / TTdEY" TXHR [Option ID = 24416]

4. Minority government / 3fcd¥@Id TIHR [Option ID = 24415]

Correct Answer :-
« Coalition government / 344 HIPR [Option ID = 24416]

21) During a survey, Anu noted the following entries:
X+9, x+8x+7,x+6,x+5 x+4,x+3,x+2,x+1,x
The median of these entries is 5.5. What is the value of x?

TP qa&l & R 3 A Frafufla ufafdal o #t:

X+9, x+8 x+7,x+6,x+5 x+4,x+3,x+2,x+1,Xx

5 ufaf¥al 1 AT 5.5 8| x FTAF TR ? collegeduniaa
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[Question ID = 13573]

1. 1 [Option ID = 24292]
2. 7 [Option ID = 24291]
3. 0 [Option ID = 24289]
4. 6 [Option ID = 24290]

Correct Answer :-
« 1 [Option ID = 24292]

22) 1f p(x) = ax2 + bx + ¢, (a # 0) and a + ¢ = b, then what would be the zeroes of the polynomial p(x)?

afe p(x) = ax? + bx + ¢, (a £ 0) 3R a + ¢ = b §, T TEUS p(x) P YA FT 817? [Question ID = 13570]

-b
= | [
a
1 [Option ID = 24279]

p3 [Option ID = 24278]
3. [Option ID = 24280]

4. [Option ID = 24277]

Correct Answer :-

—C
g =
d
. [Option ID = 24280]

23) In a given two-digit number, the digit at the tens place is thrice the digit at the units place. By reversing the
place of digits, the new number formed is 36 less than the given number. What is the given number?

&l 3T arelt &t 718 TP GBI B G818 & WA T 3P THIE & W & 3P BT A9 A1 81 59 BT F 3] & VI Ided W
UTe EEAT, &t T8 WS W 36 HH g1 &1 TS TS 4 82

[Question ID = 13571]

1. 42 [Option ID = 24284]
2. 62 [Option ID = 24281]
3. 93 [Option ID = 24283]
4. 26 [Option ID = 24282]

Correct Answer :-
« 62 [Option ID = 24281]

24) Ina survey, data is collected from 100 people. The sum and mean of the entries are (y3 —25)and 1
respectively. What would be the value of y?

U &0 & 100 1 ¥ 3PS GUSId [P MU I ufAfday o1 anT 3R A1y HHRE: (y3 -25) R 1 81 y BT HIF T I
[Question ID = 13558]

1. 5 [Option ID = 24230]
2. 125 [Option ID = 24229]
3. 115 [Option ID = 24232]
4. 25 [Option ID = 24231]

Correct Answer :-
« 5 [Option ID = 24230]
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Three spherical balls with radii 1 cm, 2 cm and 3 cm were melted and a big spherical ball was formed. 25% of the
metal got wasted in this process. What would be the radius of the new spherical ball?

9= Marer 712 e, Breard sa: 1 3, 2 I ol 3 A K, 37 fraen o¢ vor = Marer i = 1) g9 ufhar &
25% YT ISP & 4TI §H 18 NareR e i Brear « enfiz

[Question ID = 13569]

1. 2 cm/ 2 ¥ [Option ID = 24276]
2.5cm / 5 ¥t [Option ID = 24274]
3.3 cm / 3 ¥t [Option ID = 24275]
4. 6 cm / 6 9 [Option ID = 24273]

Correct Answer :-
« 3cm/ 3 9 [Option ID = 24275]

26) Metal ‘M’ reacts with Oxygen to form a metal oxide ‘M,0’. What is the valency of the metal ‘M"? (Atomic

number of Oxygen is 8)
YT "M’ STRIS A fohaT $3P UTg STRITSS "M,0’ FTdT B 1 UTg "M’ Y Heitehdl 34T 82 (TR &) IRATY I111 8 8)

[Question ID = 13591]

1. 1 [Option ID = 24362]
2. 4 [Option ID = 24363]
3. 2 [Option ID = 24361]
4. 3 [Option ID = 24364]

Correct Answer :-
« 1 [Option ID = 24362]

27) From a right-angled triangle, a square of 1 unit was cut from one of its corners. What will happen to the
perimeter and area of the resulting figure?

gﬂwﬂwﬁﬂﬂﬂiwaﬁﬁﬁ1m€mwaﬁwﬁmmﬁlmm$wmaﬁwwwwm
?

[Question ID = 13559]

g Perimeter will decrease; while there will be no change in the area / ufvHg ue ITETT, Sldfe &pd H dr:i{ deeld ol
ST [Option ID = 24234]

2. Area will decrease; while there will be no change in the perimeter / &% d e ST, Safd IRHAT H ®I15 seard gl
3T [Option ID = 24235]

3. There will be no change in both area and perimeter /  URHTY 3R &F%d Gl & ®is SGaTd dal ST [Option ID = 24233]

4.  Both area and perimeter will decrease /  URHIY 3R &Fd SHI & U WA [Option ID = 24236]

Correct Answer :-
«  Area will decrease; while there will be no change in the perimeter / &35 ge ST, S&fd TRHATg H ®ig ggarg el
3{TE [Option ID = 24235]

28) Ahmed can complete the rewiring of a house in 5 days. However, with the help of Saroj, he can complete the
work in 3 days. If Saroj were to work alone, then how many days would she take to complete the rewiring?

g Uh WX faorelt &1 aR o &1 o1 5 3 & 1 &% Iear g1 Jafe W Pt Aee A dg sl s o1 3 RAT A o
BT §1 3R IR 39 BTH HI 3hd ®dl 8, af 98 faq fa=t # ar @ ureafiz

[Question ID = 13568]
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1. 7 Y2 days / 7 V2 f&51 [Option ID = 24272]
2. 7 days / 7 f&1 [Option ID = 24270]

3. 15 days / 15 f& [Option ID = 24269]

4. 6 Y2 days / 6 ¥2 f& [Option ID = 24271]

Correct Answer :-
« 7 Vadays /7 V2 f& [Option ID = 24272]

29) Neha went shopping for caps and shirts. The number of shirts she bought was three less than thrice the
number of caps purchased. Also, the number of shirts purchased was six less than six times the number of caps
purchased. How many caps and shirts did she buy?

8T AT 3R FHI TileA TS| IS gRT W 18 FHIw! @ G@&, W 78 fval 3t = & fooq S 9 9 & 191y
&, @< 7 weie Y =, @ 7 Al 3 s'n ¥ o8 1 @ o 79 @ | 3T et Aftat ot wie @ il

[Question ID = 13562]

1. 2 Caps, 1 Shirt / 2 TIf4gT, 1 SIS [Option ID = 24247]
2. 0 Cap, 1 Shirt / 0 €, 1 HHW [Option ID = 24246]
3.1 Cap, 0 Shirt / 1 EItt, 0 HHI [Option ID = 24245]

4. 1 Cap, 2 Shirts / 1 I, 2 HHIS [Option ID = 24248]

Correct Answer :-
« 1 Cap, 0 Shirt / 1 @Idl, 0 HHIW [Option ID = 24245]

30) In which century did the ideas of citizenship and nation-state took root in India?

HRA # ARTRSdT 3R IP-34 & fFar) o1 wei+ fa adt & gam ur?
[Question ID = 13603]

1. Late nineteenth century / 33¥d! ¥dlea! & fUSd HIT H [Option ID = 24409]
2. Late eighteenth century / 36Rgd! ¥dlsal & [USd M H [Option ID = 24411]
3. Mid nineteenth century / 33194l <! & T T [Option ID = 24412]

4. Early nineteenth century / R IH4dl rdTscl # [Option ID = 24410]

Correct Answer :-

« Late nineteenth century / 33Idl XrdTed] & fUael YA & [Option ID = 24409]

31) How is water provided to crops in drip irrigation system?
<Upd () RiaE srawn & Ia 1 9 $9 Ul BT T4l 82

[Question ID = 13581]

1. Creating artificial rain using showers / ?ﬁ'ﬂﬁ'ﬂfﬁ%‘lﬁﬁ [Option ID = 24322]

2. Sprinkling it by using rotating nozzles / gHdT €% cicl & f[®S®Id ¥ [Option ID = 24323]

3. Making it flow in small drains around crops / HHd & Rl 3R BIc! Alferdl H §81 B [Option ID = 24324]
4. Drop by drop directly near the roots / Tt €] & UM §g §g ®<b [Option ID = 24321]

Correct Answer :-
« Drop by drop directly near the roots / el S8l & Uy dq §g CoRED [Option ID = 24321]

32) How many lines of symmetry does a rectangle have?

U 3mad | fpa-t gafafy Yar gt 82
[Question ID = 13553]

1.Two/ @l [Option ID = 24210]
2. Four/ dR [Option ID = 24209]

3. Infinite /  3fd [Option ID = 24212]
4.0ne/ U [Option ID = 24211]

Correct Answer :-
« Two/ Gl [Option ID = 24210] gcollegeduniaé
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33) A card is selected at random from a well shuffled deck of 52 playing cards. What is the probability of the card
being a red face card?

IS PR | Bl 713 52 Ul $1 TH a1 B TSI & W TP U1 gresdd1 FHrer S g1 3991 &1 wiiddan ¢ & g8 v e
AT I BT AR aTelt Ul 82

[Question ID = 15226]
3

1. 13 [Option ID = 30902]
3

2. %® [Option ID = 30901]

b | =

3. [Option ID = 30904]

4. [Option ID = 30903]

Correct Answer :-
3

. %® [Option ID = 30901]

34) In terms of credit, what does Collateral mean?

BT B =P T IHdE BUryrR &1 77 3 82
[Question ID = 13601]

1. An asset that the borrower owns and uses this as a guarantee for the lender until the loan is repaid / W Yot & SYRSAl &
U gkt 8 3R 98 BUI g d& 39 RSt & ¥Y H IUGIT &l § [Option ID = 24403]

2. An asset that both lender and borrower jointly own and use as a guarantee until the loan is repaid / Ut Ty st Horerar ofiR
QYRG! G Ggad 9 F TG ¢ 3R B gHH dd TRl & U H GG Hd & [Option ID = 24402]

3. An asset that the lender owns and uses this as a guarantee for the borrower until the loan is repaid / UH Sufxi Sl HBUGAT &
U9 g 3R B & d% 98 349 TR & ¥4 H TN Hdl g [Option ID = 24401]

4. A random asset that neither the borrower nor the lender owns, however, it is used as a guarantee until the loan is repaid / ﬂﬁ
ufty St 7 f IURSar SR 7 & BT & UM Bl 8 Afdh IUHT YA TRE & ¥ H a1 91 g o9 d o Hu1 garan =g
SITdl [Option ID = 24404]

Correct Answer :-
« An asset that the borrower owns and uses this as a guarantee for the lender until the loan is repaid / Ut Hufy S SRSl

35) Every rational number is

Ta® Uiy @I 7
[Question ID = 13557]

1. An integer / Qﬁ@ﬁﬁ [Option ID = 24226]

2. Areal number /  U® dr&ifde AT [Option ID = 24227]
3. Awhole number / T TIUT &A1 [Option ID = 24228]

4. A natural number / WWH@T [Option ID = 24225]

Correct Answer :-
« Areal number/ T® GIESIGEZREE!| [Option ID = 24227]

36) Consider the following changes that take place around us:
(i) Burning of dry leaves

(ii) Conversion of milk to curd

(iii) Evaporation of water from a pond

Which of the above is a physical change?
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frrafafea aftada sar smy oy ufea g 8 39 W faaw &
(i) Gt ufral &1 s

(i) gY P1 g8t H agaT

(iiii) ITETE & U &7 arefiEur

Sudad # | #1911 uRad= Wifae uivad= 82

[Question ID = 13588]

1. Both (i) and (ii) / (i) 3R (ii) S [Option ID = 24352]
2. Only (iii) / d (iii) [Option ID = 24351]

3. Only (i) / a4 (i) [Option ID = 24349]

4. Only (i) / ad (ii) [Option ID = 24350]

Correct Answer :-

« Only (iii) / %ad (jii) [Option ID = 24351]

37) Match Column I with Column II

Column I Column II

a) Humus 1) prevent soil loss

b) Shelter belt 2) helps to retain soil moisture

c) Rock dams 3) organic matter deposited on top soil
d) Muliching 4) check the wind movement

PIad I dUT Hiaw II T = sifee

PIad I PIaH 11

a) gUAd 1) HaT 3RS &I AHAT

b) Y&® AT 2) frd) &t it F) 79 vEA W Heg FRAT ®
¢) TEH aiy 3) SU ga1 ) Fafa S vard

d) gt 4) Ta1 F1 i B} &ifg S & 96g PIA @

[Question ID = 13610]

1. a-3, b-4, c-1, d-2 [Option ID = 24437]
2. a-4, b-1, c-2, d-3 [Option ID = 24440]
3 a-1, b-2, c-3, d-4 [Option ID = 24438]
4. a-2, b-3, c-4, d-1 [Option ID = 24439]

Correct Answer :-
. a-3, b-4, c-1, d-2 [Option ID = 24437]

38) 115781

What will be the digit at the thousandths place of the number

115781 >y

qear — q TEATT TATH FT S FIT ZOAIT?

[Question ID = 14378]

1. 1 [Option ID = 27511]
2. 4 [Option ID = 27509]
3. 2 [Option ID = 27512]
4. 3 [Option ID = 27510]

Correct Answer :-
* 4 [Option ID = 27509]
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If cos A :% and (0° < A <90°), then what will be the value of tan A?

% cos A = % T (0° < A <90°)Z, AT tan A FT T F4T ZRIT?

[Question ID = 13555]

[Option ID = 24217]

Wik W

2. [Option ID = 24219]

W |

3.~ [Option ID = 24220]
3
4. % [Option ID = 24218]

Correct Answer :-

3

« % [Option ID = 24218]

40)
Which equation describes the relationship between X and ¥ in the table given below?

FafafET IR H X 3R v & I & oI I GHIH] <idl a2

Y
0 -4
4 | -20
-4 | 12
8 | -36

[Question ID = 14430]

—X
y=—-4
1. 4 [Option ID = 27717]
2. ¥Y=-4%-4 (o ion 1D = 27719)
y=-4x+4
3. [Option ID = 27718]
X
y== =4
4, 4 [Option ID = 27720]

Correct Answer :-

==4X-4 10 tion ID = 27719]

41) Abdul was whirling a stone tied with a string in a horizontal circular path and suddenly the string broke. What
effect will it have on the stone?

G U URR H U T A FiyH &feret gt uy W Y1 38T 4T 3R E-E YT g 1471 3d URR UR T WHTE TST?
gcollegedunias

India’s largest Student Review Platform

T



[Question ID = 13587]

1. It will continue to move in a circular path / g gitd Gy H Tfd SIRT IQT [Option ID = 24346]

2. Tt will move along a straight line towards the centre of the circular path / 98 G010 9Y & &g &I 3R e 31 & 1y 71fd S
[Option ID = 24348]

3. It will move along a straight line tangential to the circular path / 98 giig gy & w=f Yty Weff a1 & 9y 71fd S [Option ID
= 24347]

4, Tt will drop to the ground immediately /I8 qRd SHHE R TR S [Option ID = 24345]

Correct Answer :-
« It will move along a straight line tangential to the circular path / T8 geitd Uy & =f Y& dtefl a1 & 91y 71fd S8 [Option

ID = 24347]
42) Human body is of electricity and air is of electricity.
He TR fagga &1 gra1 @ 3R arg fagga &1 glar 2|

[Question ID = 13582]

1. Conductor, Insulator / TTd®, 3Hax14d [Option ID = 24326]
2. Conductor, Conductor / dltich, dlcich [Option ID = 24328]
3. Insulator, Insulator / 3f@RIYSF, HARIYF [Option ID = 24325]
4. Insulator, Conductor / 3faRI4e, dTd® [Option ID = 24327]

Correct Answer :-
« Conductor, Insulator / dTcidh, AP [Option ID = 24326]

43) Why are the air conditioners (ACs) often placed high up on the walls?
UTY: AP a® (AC) SlaR W HUR B d%b T TE STd 82

[Question ID = 13585]

1. So that ACs do not require earthing / dTfd arAGa®! B 3T B ffaesdr 7 U3 [Option ID = 24338]

2. So that ACs consume less power / @1fds aIdT G a® faegd fad $1 HH IUTNT & [Option ID = 24337]

3. So that the cool air moves down and hot air moves up / AT d&! arg = &1 3R qUT 7TH aR”] HW $I 3R ST [Option ID =
24340]

4. So that the hot air moves down and cool air moves up / df® TTH aRY =d &1 3R YT 381 a1 FHUR &I 3R TMT [Option ID =
24339]

Correct Answer :-

« So that the cool air moves down and hot air moves up / difds 381 arg =td @1 3R qUT TH a1 FIR B HR ST [Option ID =
24340]

44) What does MRP stand for?
TH. 3R, Ul. (MRP) &1 fawaiva =u &1 82

[Question ID = 13599]

1. Minimum Retail Price / =g 7dH oI Hcd [Option ID = 24396]

2. Minimum Rate Price / <-dH & Hcd [Option ID = 24394

3. Maximum Rate Price / G{TQWE?H\W [Option ID = 24393]

4. Maximum Retail Price / &ﬁﬁﬁﬂwn@ [Option ID = 24395]

Correct Answer :-

45) What will be the geometric representation of the given pair of equations?
24x +1.6y-18=0and4.8x +3.2y-3.6=0

few g witewvor g &1 s g @ ghm?
2.4x + 1.6y-1.8 =03 4.8x + 3.2y-3.6 = 0

tion ID = 13563 l
[Question 1 collegedunlaé
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1. Coincident lines / TuTdt IWTT [Option ID = 24250]

2. Parallel lines / §HIAR ¥@IY [Option ID = 24251]

3. Parabola / UXdeid [Option ID = 24252]

4. Intersecting lines / Wfdase Sl §8 Y@IE [Option ID = 24249]

Correct Answer :-
« Coincident lines / HUTd Y@1Y [Option ID = 24250]

46) What would be the sum of the first 16 terms of the Arithmetic Progression: 10, 6, 2,...?
AR H¢l: 10, 6, 2,.... S UYH 16 UG! BT I T §HIT?

[Question ID = 13554]

. 320 [Option ID = 24214]

. -400 [Option ID = 24216]
. =352 [Option ID = 24215]
. =320 [Option ID = 24213]

£ b N

Correct Answer :-
e -320 [Option ID = 24213]

47) What do we call a state which does not officially promote any one religion as the state religion?

a8 359 ol f6f ot end &t srfirepTive w0 A Ty« & R UR 8Y 3IuATdT, 39 I B HT Bl AIdl 22
[Question ID = 13598]

Socialist / THTSIATG] [Option ID = 24390]
Theocratic / &H=IRAT [Option ID = 24391]
Republic / 70T [Option ID = 24392]
Secular / ¥4 A0 [Option ID = 24389]

b W

Correct Answer :-
«  Secular / 4¥ fARUE [Option ID = 24389]

48) What is the name of the process by which a tadpole is transformed into an adult frog?

39 Ufhar &) 71 Fed & orad e dsud, 9uve Hes # uRafda g wmar 82
[Question ID = 13592]

1. Molting / fAH= [Option ID = 24365]
2. Regeneration / GAHATIT [Option ID = 24367]
3. Metamorphosis / STARUT [Option ID = 24368]

4. Hibernation /fdfAfsHadT [Option ID = 24366]

Correct Answer :-
» Metamorphosis / BTAIARUT [Option ID = 24368]

49) What is the process of cultivation of grapes called?

IR P Wt B} ufhar H) FT HBT AIT 72
[Question ID = 13614]

1. Sericulture / ¥fdH e’ [Option ID = 24454]
2. Pisciculture / i@ eeR [Option ID = 24455]
3. Vermiculture / gfer [Option ID = 24456]
4. Viticulture /fafeser [Option ID = 24453]

Correct Answer :-
« Viticulture /fafe®ear [Option ID = 24453]
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What is Per capita income?

uf safed ama &1 & 3y 872
[Question ID = 13605]

1. Income earned by each individual in the country / 9 H Ul fad gRT fSla 3ma [Option ID = 24417]

2. Income generated by payment of taxes by individuals / Sfadal gRT B & YA § I 319 [Option ID = 24419]

3. Total income of the country divided by total population / oY B $A 3T BT A ST g faureH [Option ID = 24418]

4. Total income of the country divided by expenditure incurred / &1 @1 §dl 31 ¥ fHU 7T 7 &7 faHTSH [Option ID = 24420]

Correct Answer :-
« Total income of the country divided by total population / &= @1 Fdl 319 &1 Hal ST § AU [Option ID = 24418]

51) Anita is getting ready for a party. She is standing at a distance of 20cm from a plane mirror. At what distance
will her image be formed?

ﬂwuﬁﬁammﬁ?ﬁél 9% U% 9Had guur ¥ 20 Adhfier 3 gt w @l & @ Swe ufefde frait g w

[Question ID = 13575]

1. 30 em / 30 ¥t [Option ID = 24297]
2. 10 cm / 10 §#t [Option ID = 24300]
3. 20 cm / 20 JHt [Option ID = 24298]
4. 15 cm / 15 it [Option ID = 24299]

Correct Answer :-
« 20 cm / 20 T+ [Option ID = 24298]

52) Read the passage given below carefully.

Most of us have our moments of wonder, when we are curious, and we ask questions that actually are historical.
Watching someone sip a cup of tea at a roadside tea stall you may wonder — when did people begin to drink tea or
coffee? Looking out of the window of a train you may ask yourself — when were railways built and how did people
travel long distances before the age of railways?... All such historical questions refer us back to notions of time.
But time does not have to be always precisely dated in terms of a particular year or a month. Sometimes it is
actually incorrect to fix precise dates to processes that happen over a period of time. People in India did not begin
drinking tea one fine day; they developed a taste for it over time. There can be no one clear date for a process such
as this. Similarly, we cannot fix one single date on which British rule was established, or the national movement
started... All these things happened over a stretch of time. We can only refer to a span of time, an approximate
period over which particular changes became visible.

( Our Pasts III, NCERT, 2007)

frafafaa e &1 = 9 ufenl

gH # ¥ AfUp iz a1l Y SEfRT HAaTel T &0 §1d © o1d §H Iog® 81d ¢ 3N gH TX U U9 § ol araa | efceriie g
2| 9@ fFran 9rg 1 g9 W fdt &) 919 371 U@ $U g WA §U TTHR UE AT DI ISP PR 9Pdl @ - RN J Ira a1
HIPt G BT 909 $d & T 52 ¢ @1 RASH! T 918% 3@d §U 1Y W4 | IS UHd ¢ - Yad &1 Haior $a gom o1 3R
03 F A A Ugd wdl g B AT HA R 42 ... T @it e vy o wwy & wefia uronsi &1 g: iy e B
R 9HY F1 9ed Bt faRiw adf a1 udA & SR | Fuiiva 78 s aifge) sft-wdt ufea wfteareit & fae e fafy
T ST aIvdd § Ted gar 8 | UIRd & @ A v & # =g §iHn 3RF T8t fran; S9@T Wie 39 0 99y Ut 8§ ST
§3MTI 39 d¥g &t ufhwn & fore #1F Wy aiia =181 8t I@dl | 3t UeR 89 U8 WY ¥U A $g 8] 9aad & fafew sma= w9
wyTiOd b Tar 1, 91 AP S FE AR A AT ... 1 T W Dol U wHarafes | g3 | 9 $ad 999 B 3@y 1 I
BT TP 8, TP AgaTa srart R fdw uftad= @ w8l

(EHI J/dia ITL, €. 41.3.3R. 3., 2007)

According to the passage above what can one infer about the nature of certain social processes?

UL 3= F AR, TO TTHIS UbaTSl Bt UHid & qX H 7 TdT TTIT o1 THal 52
[Question ID = 13608]

1. They are gradual and take place over a period of time / J Hfid § 8k TP JHaEafe § gid | [Option ID
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2. They are gradual and end on precise time / d #ie g 3R A g9g ) 99 €1 8 [Option ID = 24430]

3. They can be assigned fixed dates / 391 fad fafdai fAuid @t o ¥t € [Option ID = 24429]

4. They begin on a specific date and end on a specific date /3 T& faf¥ry fafd ¥ == 81 § ok & Ry fafy & 9o gia €
[Option ID = 24432]

Correct Answer :-
« They are gradual and take place over a period of time / J HiH® ¢ 3R U grumafy § g1d § [Option ID = 24431]

53) Read the passage given below carefully.

Most of us have our moments of wonder, when we are curious, and we ask questions that actually are historical.
Watching someone sip a cup of tea at a roadside tea stall you may wonder — when did people begin to drink tea or
coffee? Looking out of the window of a train you may ask yourself — when were railways built and how did people
travel long distances before the age of railways?... All such historical questions refer us back to notions of time.
But time does not have to be always precisely dated in terms of a particular year or a month. Sometimes it is
actually incorrect to fix precise dates to processes that happen over a period of time. People in India did not begin
drinking tea one fine day; they developed a taste for it over time. There can be no one clear date for a process such
as this. Similarly, we cannot fix one single date on which British rule was established, or the national movement
started... All these things happened over a stretch of time. We can only refer to a span of time, an approximate
period over which particular changes became visible.

(Our Pasts ITI, NCERT, 2007)

frafafEa e ot v | ufeu

g ® | ftreier @l &t Srafla Fxara U &1 € & o 80 Sog@ 1 & 3R g9 U Uy U & ot aaq # AfeRie g
2| 9@ fFan arg ot g W fdt &) 919 &7 U@ $U g WA §U TWHY UE AT DI ITP SR 9Pbdl § - aRN J g a1
HIDt G BT 909 Fd = g1 512 o1 @) RSP | 918% 3@d §U 31U 390 | Y@ 9ad § - vad & fHafor oa gom o1 3k
Yd & I A ggd it g B A HY BHed 42 ... T 9 efeeTRie vy v wwy @ wEfia yronsi &1 g4 9y S B
R 9HY $i Wed 5t iy adf a1 wdA & orguR | Fuifva 98 s aifge) sdt-wadt afea wfteareit & fe e fafy
T ST aTedd § Ted ga1 8 | HRd & @ 3 U & # =g §in YRF T8t fam; 39@T Wre 39 0 99y Ut 8§ ST
g1 39 O B ufhar & Re #1E Wy aia 781 ) god | I SR 89 98 WP ¥ & e T8 wad F ey e 9
e fam ran T, ar TiY Sigtas $a AR g1 U1 ... 1 3 9t i U wwarafy & g1 9 $aa 9ay o1 3afy 1 @
BT TP 8, TP AgaTa srare R e ufad= @ w2l

(EHI /i ITL, €. 41.3.3MR. 3., 2007)

When is a question called 'Historical’in nature?

&3 Uy Wy A Ufaeie’ 9 Heamarg?
[Question ID = 13607]

1. When it refers to a person / 58 98 U adfad § §w&fdd 8ial 8 [Option ID = 24425]

2. When it refers to a group of people / ST& 98 TNl & U THE T THETAd 8IdT & [Option ID = 24427]
3. When it refers to the notion of time / S8 98 HY P YRUN ¥ JrSfd gId1 & [Option ID = 24428]
4. When it refers to an object / STd 9€ Ud a%q § Twfd gidl & [Option ID = 24426]

Correct Answer :-
« When it refers to the notion of time / ST& 98 IHY &1 YRUN A Fr&fd 8idT & [Option ID = 24428]

54) Read the passage given below carefully.

What does social democracy mean? It means a way of life which recognises liberty, equality and fraternity as the
principles of life. These principles of liberty, equality and fraternity are not to be treated as separate items in a
trinity. They form a union of trinity in the sense that to divorce one from the other is to defeat the very purpose of
democracy. Liberty cannot be divorced from equality; equality cannot be divorced from liberty. Nor can liberty and
equality be divorced from fraternity. Without equality, liberty would produce the supremacy of the few over the
many. Equality without liberty would kill individual initiative. Without fraternity, liberty and equality could not
become a natural course of things. It would require a constable to enforce them.

(B.R. Ambedkar’s speech, Frontline, February 2019)
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frafafEa e &t a3 ufeu |

IS dpas &1 3 w1 82 98 U T ofia vy @ St adaan, aHEar ok §y@ 31 sitaq & Rigidl & 0 A dier
Hdl g | T, AT 3R dY & 39 fusial @ Brgfd # srent-sren awgsit & w0 & 98 urn o1 gadn g1 98 A &1
U U1 WA 94914 ¢ 1 afe 3% U goY | e $ U1 9 @Y el ds & I &1 81 874 &1 ST | Ta=al S H=aT
& T G fBaT S T T §; THIAT B WAl & AT g1 (BT o1 FhaT g1 AT & ¥qdAdl AR UG Bl dYT | T
forar o Wewan 8 | FHTHAT & O T $© @R & aeva @) gerar it TaesaT & AT guTHar safenTa Ik $i Ay R
%Tﬁlﬁgﬁﬂgﬁﬁéﬂmﬁmeﬁ?mmmmﬁmﬂﬁmmlﬁmw$ﬁEWWﬁ
AP T Bt |

(&1 31v. SRS HEY BT YY), eearsH, BIasl 2019)

Which of the following are the significant principles of a social democracy?

Prafifea & @ o919 @ amifoe dedd & deayul Rigid 82
[Question ID = 13595]

1. Equality, democracy and liberty / FHIHGT, Tdda 3R Wa=IdT [Option ID = 24380]
2. Fraternity, democracy and liberty / §&d, @idad 3R Wcaral [Option ID = 24378]
3. Liberty, trinity and equality / ¥ad=aT, BHfd 3R GHFCT [Option ID = 24377]

4. Liberty, equality and fraternity / TIc=IdT, GHFGT 3R S [Option ID = 24379]

Correct Answer :-
« Liberty, equality and fraternity / Saci=dl, T 3R §Ya [Option ID = 24379]

55) Read the passage given below carefully.

What does social democracy mean? It means a way of life which recognises liberty, equality and fraternity as the
principles of life. These principles of liberty, equality and fraternity are not to be treated as separate items in a
trinity. They form a union of trinity in the sense that to divorce one from the other is to defeat the very purpose of
democracy. Liberty cannot be divorced from equality; equality cannot be divorced from liberty. Nor can liberty and
equality be divorced from fraternity. Without equality, liberty would produce the supremacy of the few over the
many. Equality without liberty would kill individual initiative. Without fraternity, liberty and equality could not
become a natural course of things. It would require a constable to enforce them.

(B.R. Ambedkar's speech, Frontline, February 2019)

frafefed e #t = | ufey |

AT dpad &1 3 F1 82 98 U T offa v @ St wadan, aHEar ok dy@ 31 sitas & Rigidl $ 0 A Wier
Hdl g | T, UG 3R dYw & 39 fugial @ Bgfd & sranr-sren awgsit & w0 § & 7 o gadn g1 a8 Agfd &1
T UHT WAV T91d & 1 Tfe 32 U gix & SIeT $X a1 oY o dida & I BT 81 g4 81 9 | We=al &1 Jar=ar
|/ AT AE! fBUT S TwdT §; THIAT B WaAdl & AT 751 BT o1 Fhar g1 A7 & ¥qaaal AR U1 Bl dYT | ST
far o waan 81 AT & a1 TdAar $© @R & adva @ gerar ¢t adaar & A warar safdara SuwH @1 Ay B
%ﬁ’rlaww,mﬁwwmmﬁmﬁwmlﬁmmﬁﬁmWWﬁ
3Taggemar gt

(&1 31v. SFRsHEY BT YY), eearsH, BIasl 2019)

Without the principle of equality, what would liberty in social democracy mean?

AT & Rrgid & o=, s dteds A wad=ar &1 &1 3 ghim?
[Question ID = 13596]

1. Freedom to choose one's own religion / 34T 3] Eﬁﬁ P! Iddadl [Option ID = 24384]

2. People are free to make their choices without any compulsions / & fom foeedt gara & srat OYeIIIR T B3 & forw TWaa 8
[Option ID = 24381]

3. There is no state to govern the people / AT ORI B & U &ig Ty :f_ﬁpf% [Option ID = 24383]

4. Dominance of a small number of people over masses / W7dl UX $& ﬁﬁ?l A 1 Feerdl [Option ID = 24382]

Correct Answer :-
« Dominance of a small number of people over masses / S-dl IR $& gﬁa SIEAR RG] [Option ID = 24382]
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56) Read the statements given below carefully:

(i) Classification of natural resources depends upon their level of development, use, origin, stock and distribution
(ii) Abiotic resources are non-living while biotic resources are living

(iii) Resources that are found everywhere are localised but those which are found only in certain places are
ubiquitous

(iv) Using resources carefully and giving them time to get renewed is called resource conservation

On the basis of the above statements mark the correct response from the following:

frafafaa syt 1 a= @ ufew:

(i) wpfae FaryAl 1 aifeo 39 faer & wWR, Swaifiar, Safy, WeR ok fdavur R Ak srar g

(i) erifde TaeA fsifa wafe Sfa®e dary= geiid g1d &

(iiii) ¥ FHTYT St 8% RIM W UTE 91 § R gd & o o TaruH b 3o wEl v 8 firea € 3 adardt gid 8
(iv) T BT TGS TUNT H GT ST 3R IR R A 997 7 THY AT HHIY W01 Hgerdl &

S FYAI & MYR W Fafafea 7 | w8 W g

[Question ID = 13612]

1. (i), (ii) and (iv) are correct / (i), (ii) 3R (iv) el & [Option ID = 24447]
2. (ii), (i) and (iv) are correct / (i), (iii) 3R (iv) et & [Option ID = 24448]
3. (ii), and (iv) are correct / (ii) 3R (iv) el & [Option ID = 24446]

4. (ii) and (iii) are correct / (ii) 3R (iii) el g [Option ID = 24445]

Correct Answer :-
« (i), (i) and (iv) are correct / (i), (i) 3R (iv) el & [Option ID = 24447]

57) Carbon-dioxide gas is produced as one of the products in which of the following processes?

U IAE B FU | Ha SIS aTss T &1 Iodeid fHuffad & @ faw uftar & gar 22
[Question ID = 13576]

1. Burning of hydrogen gas with pop sound / fa¥®ie @af & |1y §IESISH 719 & Sfd ¥ [Option ID = 24303]

2. Adding baking soda to vinegar /RiReeT | dfch T JisT fAIE™ ¥ [Option ID = 24301]

3. Adding dilute sulphuric acid to ammonium hydroxide / T TARIR® 3fFd H fHIH gIEgIduES fHaH ¥ [Option ID = 24304]
4. Mixing charcoal powder with iron / @ig & ¥4 TR&®IA &1 Ul {HeH I [Option ID = 24302]

Correct Answer :-

« Adding baking soda to vinegar /fiReT & dfdst1 GIST fie= & [Option ID = 24301]

58) The difference between the length and the breadth of a rectangle is 23 meters. If the perimeter of the
rectangle is 206 meters, what is the area of this rectangle?

TS 3 B TS 3R IISTs BT v 23 HieR &1 If 3mad &1 uRATT 206 Hiex 8, 91 59 31U ST &A% d T 82

[Question ID = 13564]

2520 m? / 2520 g7 Hiex [Option ID = 24256]
2480 m? / 2480 T HIex [Option ID = 24255]
2420 m? / 2420 97 HIex [Option ID = 24254]
1520 m? / 1520 37 Hiex [Option ID = 24253]

-l Ll

Correct Answer :-
. 2520 m2 / 2520 g7 Hiex [Option ID = 24256]

59) The sound waves cannot travel through which of the following medium?

wf a3 fFafafea & 9 e aram @ 78 R 9wdre?
[Question ID = 13593]

1. Gas / 19 [Option ID = 24369]

2. Solid / 319 [Option ID = 24370]

3. Vacuum / Tafd [Option ID = 24372]
4. Liquid / 2o [Option ID = 24371]
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Correct Answer :-
» Vacuum / frafa [Option ID = 24372]

60) The angle of elevation of the top of a tower from a point on the ground, which is 30 meters away from the foot
of the tower, is 30°. What is the height of the tower?
% & uo fig @, ot f9R & urg-fig 9@ 30 Hiew 3t gl W 8, HI9R & Rrex &1 3999 101 30° 31 H9R $t Ha1s 1 82

[Question ID = 13572]

1. 10 m/ 10 H [Option ID = 24287]
2. 30v3 m/ 30v3 H [Option ID = 24286]
3. 30 m/ 30 Ht [Option ID = 24288]

4. 10v3 m/ 10v3 i [Option ID = 24285]

Correct Answer :-
«  10v3 m/ 10V3 i [Option ID = 24285]

Topic:- DU_J19_BELED_T7_E_NEW_(optional)

1) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and then said,
'Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way you may become
useful.” He poked it with a finger. Naga raised its head and looked about with a dull wonder. ‘You have become too
lazy even to open your hood. You are no cobra. You are an earthworm. I am a snake charmer attempting to show
you off and make a living. No wonder so often I have to stand at the bus stop pretending to be blind and beg. The
trouble is, no one wants to see you, no one has any respect for you and no one is afraid of you, and do you know
what that means? I starve, that is all.’

(Naga; R. K. Narayanan)

Which of the following statements are not true about Naga?
[Question ID = 13529]

1. Naga did not open his hood [Option ID = 24113]

2. Naga was an earthworm [Option ID = 24116]

3. Naga was slow and sluggish like an earthworm [Option ID = 24115]
4. Naga was coiled in the wicker [Option ID = 24114]

Correct Answer :-
» Naga was an earthworm [Option ID = 24116]

2) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and then said,
‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way you may become
useful.” He poked it with a finger. Naga raised its head and looked about with a dull wonder. ‘You have become too
lazy even to open your hood. You are no cobra. You are an earthworm. I am a snake charmer attempting to show
you off and make a living. No wonder so often I have to stand at the bus stop pretending to be blind and beg. The
trouble is, no one wants to see you, no one has any respect for you and no one is afraid of you, and do you know
what that means? I starve, that is all.’

(Naga; R. K. Narayanan)
‘T hope you are dead’. Which emotion of the boy is expressed in this statement?

[Question ID = 13533]
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1. Frustration [Option ID = 24131]
2. Pride [Option ID = 24130]

3. Amusement [Option ID = 24129]
4. Surprise [Option ID = 24132]

Correct Answer :-
« Frustration [Option ID = 24131]

3) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and then said,
‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way you may become
useful.” He poked it with a finger. Naga raised its head and looked about with a dull wonder. *You have become too
lazy even to open your hood. You are no cobra. You are an earthworm. I am a snake charmer attempting to show
you off and make a living. No wonder so often I have to stand at the bus stop pretending to be blind and beg. The
trouble is, no one wants to see you, no one has any respect for you and no one is afraid of you, and do you know
what that means? I starve, that is all.’

(Naga; R. K. Narayanan)
What was the boy worried about?
[Question ID = 13531]

1. Begging at the bus stop [Option ID = 24123]
2. Earning his daily living [Option ID = 24122]
3. The earthworm [Option ID = 24124]

4. Naga starving to death [Option ID = 24121]

Correct Answer :-
« Earning his daily living [Option ID = 24122]

4) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and then said,
‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way you may become
useful.” He poked it with a finger. Naga raised its head and looked about with a dull wonder. ‘You have become too
lazy even to open your hood. You are no cobra. You are an earthworm. I am a snake charmer attempting to show
you off and make a living. No wonder so often I have to stand at the bus stop pretending to be blind and beg. The
trouble is, no one wants to see you, no one has any respect for you and no one is afraid of you, and do you know
what that means? I starve, that is all.’

(Naga; R. K. Narayanan)
Why does the boy stand at the bus stop and beg?
[Question ID = 13530]

1. He sold Naga to the purse maker [Option ID = 24119]

2. He was blind [Option ID = 24118]

3. Naga was dead [Option ID = 24120]

4. Naga was no longer entertaining people [Option ID = 24117]

Correct Answer :-
« Naga was no longer entertaining people [Option ID = 24117]

5) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled insi hen ﬁid, .
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‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way you may become
useful.” He poked it with a finger. Naga raised its head and looked about with a dull wonder. ‘You have become too
lazy even to open your hood. You are no cobra. You are an earthworm. I am a snake charmer attempting to show
you off and make a living. No wonder so often I have to stand at the bus stop pretending to be blind and beg. The
trouble is, no one wants to see you, no one has any respect for you and no one is afraid of you, and do you know
what that means? I starve, that is all.’

(Naga; R. K. Narayanan)
Why does the boy think that he may starve?
[Question ID = 13532]

1. His lack of skills as a snake charmer [Option ID = 24125]
2. Not being able to beg [Option ID = 24127]

3. The dull snake [Option ID = 24128]

4. The people are scared of snakes [Option ID = 24126]

Correct Answer :-
» The dull snake [Option ID = 24128]

Topic:- DU_J19_BELED_T8_E_NEW_(optional)

1) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions. Sparrows
have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of their trust and love
for each other in all languages. But strangely, over the past 50-60 years, sparrows have been sadly deserting
human company in urban areas, preferring suburban areas and the countryside, and only making brief visits to
nearby human habitats. So bewildering and absolute was their alienation that in 2002, sparrows were included in
the IUCN Red List of Threatened Species in the U.K. and since 2010, March 20 has been adopted as World Sparrow
Day. In 2012, Delhi adopted the House sparrow as its State bird.

Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as sentinels
or as ecological indicators is a warning to humans about impending environmental hazards. Several speculations
have been put forward to account for sparrows deserting our cities, but they all boil down to the simple fact that
the rapid changes in the lifestyles of humans in urban areas are increasingly incompatible with the conservative
lifestyles of sparrows.

( Where have the sparrows gone?: P.).S. Raj)
In which year was ‘World Sparrow Day’ adopted?
[Question ID = 13550]

1. 2002 [Option ID = 24198]
2. 2001 [Option ID = 24199]
3. 2010 [Option ID = 24200]
4. 2012 [Option ID = 24197]

Correct Answer :-
. 2010 [Option ID = 24200]

2) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions. Sparrows

have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of their trust and love

for each other in all languages. But strangely, over the past 50-60 years, sparrows have been sadly deserting

human company in urban areas, preferring suburban areas and the countryside, and only making brief visits to

nearby human habitats. So bewildering and absolute was their alienation that in 2002, sparrows were included in

the IUCN Red List of Threatened Species in the U.K. and since 2010, March 20 has been adopted Lorld Sparrow .
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Day. In 2012, Delhi adopted the House sparrow as its State bird.

Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as sentinels
or as ecological indicators is a warning to humans about impending environmental hazards. Several speculations
have been put forward to account for sparrows deserting our cities, but they all boil down to the simple fact that
the rapid changes in the lifestyles of humans in urban areas are increasingly incompatible with the conservative
lifestyles of sparrows.

( Where have the sparrows gone?; P.1.S. Raj)

Which phrase in the above passage means that sparrows have a mutually beneficial relation with humans?
[Question ID = 13547]

1. Sparrows have been sadly deserting human company in urban areas [Option ID = 24188]

2. Sparrows have had a symbiotic relationship with humans [Option ID = 24185]

5 Lifestyles of humans in urban areas are increasingly incompatible with the conservative lifestyles of sparrows [Option ID =
241871

4. Sparrows are making brief visits to nearby human habitats [Option ID = 24186]

Correct Answer :-
. Sparrows have had a symbiotic relationship with humans [Option ID = 24185]

3) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions. Sparrows
have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of their trust and love
for each other in all languages. But strangely, over the past 50-60 years, sparrows have been sadly deserting
human company in urban areas, preferring suburban areas and the countryside, and only making brief visits to
nearby human habitats. So bewildering and absolute was their alienation that in 2002, sparrows were included in
the IUCN Red List of Threatened Species in the U.K. and since 2010, March 20 has been adopted as World Sparrow
Day. In 2012, Delhi adopted the House sparrow as its State bird.

Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as sentinels
or as ecological indicators is a warning to humans about impending environmental hazards. Several speculations
have been put forward to account for sparrows deserting our cities, but they all boil down to the simple fact that
the rapid changes in the lifestyles of humans in urban areas are increasingly incompatible with the conservative
lifestyles of sparrows.

( Where have the sparrows gone?; P.1.S. Raj)
What does the phrase 'boil down to’ mean?
[Question ID = 13551]

1. The reasons can only be guessed [Option ID = 24203]
2.  Inessence [Option ID = 24202]

3. There are multiple causes [Option ID = 24201]

4,  Make one angry [Option ID = 24204]

Correct Answer :-
. In essence [Option ID = 24202]

4) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions. Sparrows

have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of their trust and love

for each other in all languages. But strangely, over the past 50-60 years, sparrows have been sadly deserting

human company in urban areas, preferring suburban areas and the countryside, and only making brief visits to

nearby human habitats. So bewildering and absolute was their alienation that in 2002, sparrows were included in

the IUCN Red List of Threatened Species in the U.K. and since 2010, March 20 has been adopted as World Sparrow

Day. In 2012, Delhi adopted the House sparrow as its State bird. .
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Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as sentinels
or as ecological indicators is a warning to humans about impending environmental hazards. Several speculations
have been put forward to account for sparrows deserting our cities, but they all boil down to the simple fact that
the rapid changes in the lifestyles of humans in urban areas are increasingly incompatible with the conservative
lifestyles of sparrows.

( Where have the sparrows gone?: P.).S. Raj)
Why is the sudden disappearance of sparrows a cause for concern to humans?
[Question ID = 13548]

1.  Sparrows are sensitive and strongly immune birds [Option ID = 24192]

2.  Sparrows are tiny and vulnerable [Option ID = 24189]

3. Sparrows are ecological indicators of approaching environmental dangers [Option ID = 24191]
4 Sparrows are a trusted companion to humans [Option ID = 24190]

Correct Answer :-
. Sparrows are ecological indicators of approaching environmental dangers [Option ID = 24191]

5) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions. Sparrows
have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of their trust and love
for each other in all languages. But strangely, over the past 50-60 years, sparrows have been sadly deserting
human company in urban areas, preferring suburban areas and the countryside, and only making brief visits to
nearby human habitats. So bewildering and absolute was their alienation that in 2002, sparrows were included in
the IUCN Red List of Threatened Species in the U.K. and since 2010, March 20 has been adopted as World Sparrow
Day. In 2012, Delhi adopted the House sparrow as its State bird.

Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as sentinels
or as ecological indicators is a warning to humans about impending environmental hazards. Several speculations
have been put forward to account for sparrows deserting our cities, but they all boil down to the simple fact that
the rapid changes in the lifestyles of humans in urban areas are increasingly incompatible with the conservative
lifestyles of sparrows.

( Where have the sparrows gone?; P.1.S. Raj)
Where are the house sparrows found in the world?
[Question ID = 13549]

1 In very few places of the world [Option ID = 24193]

2 All over the world [Option ID = 24194]

3. Only in the polar regions [Option ID = 24195]

4,  Everywhere in the world excluding the polar region [Option ID = 24196]

Correct Answer :-
. Everywhere in the world excluding the polar region [Option ID = 24196]

Topic:- DU_J19_BELED_T10H_NEW_(optional)

1) frafafEd e ) o= 9 ufewl

fopar & g wfafhar (A)....o.ee.... FIOW B 1 TR ATE-UR 96 TUT B39 W U 9 BT A God 811 A A6 7 8 b1 Al

DT (B)...vovevenn. FFRTT & &0 F uftora 8 a1 397 T0FH fora1 f6 @19 5997 (€)oo e W W 91a-1R 7 60%. @
TP T STHT BT FPT, At 3G 3T PIT T (D)errreererens & o gRT 9 A TrA w1 8l | S RR R Bur s g wen g
o T AF-HT BT 3R FT JAT T BT SHDBT (E)verrererseens &htor gt mrm, frg=a (We=ra) & gom 81

& 7g; JHeie) .
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fraa = & (A) ¥ UR 9t fawen gfu:
[Question ID = 13535]

1. 7fifs [Option ID = 24140]
2. &fO1a [Option ID = 24138]
3, SIS [Option ID = 24137]

4. 3T [Option ID = 24139]

Correct Answer :-
« J9ff& [Option ID = 24140]

2) Frafafea mr ot aE 9 ufgel

fopaT & g Ufafhar (A)ereerees.. FIOH B 1 BT TIA-UT 96 U1 B W W &9 HU1 ¥ gad 819 & T6a 7 8 b1 al

FHPBT (B)errersersnnes foRTEn & ¥ u & ufvora 8 wan I wwe o {6 w19 3997 (€).vvveesnen. A W WY WTE-WR A 603, A
P 7 TTHT BT TP, AT 3T 3R B T (D)eererrerernes 8 Rrad gRT 39% g1 Ul ora1 81| 99 R ) 501 &1 9 § A 8
A FT A9-UT BT 3R T FAT AT BT SHDT (E)verrrerererens &ftor gt a1, firewd (Ag9a) | Yo 81 Tt

(a7 Gv 7g; UHg)
e w= # (B) & 39R Wel fdwey gg:

[Question ID = 13536]

1. fd901 [Option ID = 24142]
2. SAUATST [Option ID = 24144]
3. 9TH [Option ID = 24141]

4. U [Option ID = 24143]

Correct Answer :-

« YYH [Option ID = 24141]

3) Frafafeaa mrw &t a= 9 uftel

fopaT & g Uiafshar (A)vesereer.. FIOH B 1 B TTA-UT 6 0T B W W 59 F1 ¥ gaa 819 & 6 7 8 b1 al

THPBT (B)evrrrsnssnnes foRTEn & = u & ufvora 8 wan 9 awe o {6 w19 3991 (€).vnennen. A W WY WTE-WR A 60%. A
TP 7 STHT HX TP, AT 3T 3R B T (D)eererrererees 8 Rorad grT 39% g1 Ul o1 81| 99 RR @R 501 &1 9y § A g
A T A9-UT BT 3R T FAT AT BT SHDT (E)verrrerererens &ftor gt a1, freHd (Ag9d) | 9o 81 Tt

(a7 TV 75: AHa)
e w= # (D) & guR el faewey giw:

[Question ID = 13538]

1. =9 [Option ID = 24149]
2. f&=m [Option ID = 24150]
3. 3UT [Option ID = 24152]
4. =79 [Option ID = 24151]

Correct Answer :-
« JUM [Option ID = 24152]

4) Frufafad e & e 9 ufeu)

fopam & g Ufafdhar (A).eeeerer.. FFIOH 81 BT TTA-UR F TURT B W W 519 H01 ¥ gaa 819 & T6a 7 8 GbT al
FHPBT (B)evrrrsersnnes foRTEn & w0 & ufvora 8 wan1 I awe o {6 w19 3997 (). TEA W W) FEL-WR H 603, A
sb-
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TP 7 STHT BT TP, A 3F 3R B T (D)ererrerernes ¢ fora® grT 39% g1 Ul ow1 8| 99 RR @R 301 &1 iy 8 A @
A T HF-YT BT 3R T FGT T BT FHBT (E)evrrrerereseens &for g1 ran, fg=ra (Jg=Ta) | gom g Tt

(&aT &V 7g; )
frea = A (E) & AR 98 fawew gfAe:
[Question ID = 13539]

1. 9HS [Option ID = 24153]

2. URGR [Option ID = 24154]
3. 318 [Option ID = 24155]
4, WY [Option ID = 24156]

Correct Answer :-

« I8 [Option ID = 24155]

5) Frafafea mrw st aE 9 uftel

fopam & g Ufafdhar (A).eeeerer.. FFIOH 81 BT TTA-UR F TURT B W W 519 H01 ¥ gaa 819 & T6a 7 8 GbT al

FHPBT (B)evrrrsersnnes foRTEn & w0 & ufvora 8 wan1 I awe o {6 w19 3997 (). A W WY WTE-WR A 607, A
P 7 STHT BT TP, A 3d 3R B T (D)erereererees § forad g1 39% g1 U o1 81| 99 AR IR B0 &1 9 & AT 8
1 T H9-YX BT 3R T TG T BT FHBT (E)uvvrrerererens &for g1 wran, fg=ra (Jg=Ta) | gom 8 Wit

(T Gv 7g; UHeg)
fYedt = # (€) F 3aR 9 fieww gfe:

[Question ID = 13537]

1. 3[9HT [Option ID = 24145]
2. g1a=T [Option ID = 24148]
3. 3fARIY [Option ID = 24147]
4. Y [Option ID = 24146]

Correct Answer :-
« &P [Option ID = 24146]

Topic:- DU_J19_BELED_T9_H_NEW_(optional)

1) FafafeEa T o= 3 ufee)

a1 Fidt vga 3 uRaR F Freht it A 9ga u= Sraa & B 1k 339 whar #t @ 78 §ds, Wik, gadmasik gids & g
ufaRY @ 2t igvsrae gfvrar &1 gdf fe~ar garal & e a=igr ynisret fird Fararar i, srawd, sargd! iR ereRd it
I & ¢ TS WA W $B 81 He1A aTaT 7 Fre uran 31 19 &) 9 90y 9 GRidd @1 & e 3 gl &1 swura
Hd U 1T IAATAT 3 HATAl & TR 79 # g Targ WY T8 mar 41igRu & IRl § 39 a9rdl 1 9gd Fivd $Hge qawm
3R UM & e, T3u a5t avdt ISt arnedi & e daw 313w garet # o s oma A 1 g, wraak |
IR, ATEl & SaATaT U Y=-gtad SR aHa & forg off w=igr T

(717 g¥ figwag)
‘9 T vgd 59 TRaR F Frefied A aga u= faa § N1z arew F w7 o 2
[Question ID = 13541]

1. BTt i & HRITGR J dgd AT §31 [Option ID = 24161]

2. w1cit fored & 321 & off HR 9igd 91 79T [Option ID = 24163]

3. Frct B &1 SO A 391 GATHT 59 URaR & anll & F1Y §ieT [Option ID = 24162]
4. Fch! fid ¥ dhdd T &l YNGR P BRI §311 [Option ID = 24164]

A - -
Correct Answer gcol | eged unia:
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« Pcht fird & HRIGR | §gd GATHT 8341 [Option ID = 24161]

2) Frafafea mr &t aE 9 uffel

19 Tt wed 39 ufvar # srelt fored A aga w= Srera & IRk 39 oRar #) 6 98 &, wiv, gdmasik gias & g
ufvart &t W igrerya gfan &1 udf fevar aaral & fore wrge ynisrelt fard Faramar i, v, gargd o sigee i
PRIU & I8¢ I HIH H 5B &1 He1 o1 A F3e uraT T 19 & 9 96y 9% qRISd 394 & (Y 9 el 1 s
Hd A 1T AT 3 HHTA! & TR 79 # g Targ W 78 mar 4nigRu & Rl # 39 a9ral 1 989 Fiad g aawq
3R U & T, T3u e SR & avdt wgst arnadi & e dar 313w garait # o w1 omd A 1 g, wraak |
IR, HTEl & SETaT AT Y=-glera 3R aHg & g oft =g i)

CLCR AL RIS
TR0 F A0 A warE) @ wt ) de

(i) g1 99 & g
(i) Wi B Wifew 991 & forg
(iiii) |G P W19 74 | g1 & o

[Question ID = 13544]

1. (i), (i) 3R (ii) [Option ID = 24176]
2. (ii) 3R (iii) [Option ID = 24174]

3. (i) 3R (iii) [Option ID = 24175]

4, (i) 3R (i) [Option ID = 24173]

Correct Answer :-
« (D), (i) 3R (iii) [Option ID = 24176]

3) Fufafaa meiw ot w= ¥ ufeun)

= Nt vgd 30 uRaR &1 F1el fied 3 989 w7 qaa & O iRd 39 wRar @1 8§ 98 §ds, wiY, amasik gids & gay
faRt @ it igverre gfvar &1 qdf fevar warat & fore a=ige unisrelt f Fararar w6, srawd, sargel 3R 3eR® ot
WY F Ig¢ TS HIH H $O & AEA 1T A1 Fre uran o1 19 91 9 6y 99 R @R & e 3 g9rel 1 gwara
Bd U 1STPHINATAT 3 HITA! SR 79 # HI5 Trg i} T8 a1 4TIgRIY & T9RI § 59 A9Tal $1 9gd SIAd A5 Ta==
3R TR & forg, gow AW 3= #t avelt Wl arnei & forg duR 413 ware gareit # oft wny e & g g, @rER @
YR, THTA] & ATl AU Y=-grard 3R IHa & forg off =g

(717 gv figwag)
Q9 &I gdf gf-ar &t | e 4z

[Question ID = 13543]

1. - g3 <arsal [Option ID = 24170]
2. Y 3R 34T [Option ID = 24171]
3. H1¥ [Option ID = 24169]

4. T9TA [Option ID = 24172]

Correct Answer :-
« HYTd [Option ID = 24172]

4) fafefead e o a4 ufeu)

9 114 vgd 39 uRaR &1 el e 3 9ga o= Jaa & iRk 33 aiar &) @ =78 §ds, Wi, gamasi gide F g
ufvart &t sftigRaraa gftar &1 gdf fRvar amat & R a=igz uni@relt fird Faramar o, Smawa, sargH o sieRe i
R F I8¢ TS HIGH A $O 81 WA aror 7 e arar 41 iH $ ) 6 9% R 1@ $ e 3 el a1 swwma
Hd U IZHHIAATET 39 TOTA1 & R 919 § i warg 1 781 S4mam 41IgRu & a9R) 8 39 39Tdl $f 984 ®iad A3 aar
3R U F forg, gow 3w S ) avalt It arei & fog U A1 ware garsy # oft e oma A 1qdf gfran, @R @
HIRd, HHTS & aral iUt ¥=-gierd SR aHa & forg of wwrgr i .
collegedunia:s
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(717 Tv: firavag)
frafafeEa =i & & o= a1 3u gdf gfar s13w 82
[Question ID = 13542]

| Y [Option ID = 24168]
2. HIRd [Option ID = 24167]
3. %S [Option ID = 24166]
4 TTTd [Option ID = 24165]

Correct Answer :-
HIRd [Option ID = 24167]

5) fafafaa ey &t w= ¥ ufew)

= 0 ued 50 URAR 3 Frelt frd A aga v drara & iRk 3w TRaR 1 € 78 Sds, wiv, ThmaeiR gfds ¥ g
ufvary & oftigveraa gfrar &1 udf fewa wwarat & fore w=igr uniwreht fird Feramar i, wrawd, sargt oiv sreve Wt
RIU F I8¢ TS HIGA W $O 21 WA arer 7 e urar 1A P S 6 9% R 3@ $ e 3 warel o1 swwa
Hd U ISTPIAATAT 3 ATl & TR HiG A 15 wrg 1Y T8 a1 41ITRIY & T9RI & 39 A9Tal 31 9gd FIAd A5 o™=
3R TR & forg, gow 3w 3= Ft avelt Wt amnei & forg duR 413 ware qarsit # oft ey e 2 g g, wraR @
IR, THTEl & SfeTdT T Y=-grerd 3R dHa & forg +ff wr=rg um

CLER AL R
QR & ST9RI § 59 916 @1 984 BIHa BT R Fafarad § ¥ S19 91 78 82
[Question ID = 13545]

1. YTE! T ATIR dgd S U1 [Option ID = 24178]

2. 79Tl P gard §-dt &Y [Option ID = 24177]

3. AYTd WioH & fore ggr &= dI g &1 usdr 2t [Option ID = 24179]
4. TTAl ¥ HiY WGy §+dT YT [Option ID = 24180]

Correct Answer :-
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